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CHAPTER THREE
ANALYSIS OF ERRORS

3.1. INTRODUCTION 


In this chapter, four tests, i.e. multiple-choice test, sentence structure test, writing test and translation test will be subjected to analysis and description of errors. The grammatical items which will be studied, analysed and described in these four tests are articles, prepositions, relative clauses, verbals, yes/no questions, wh-questions, negation, vocabulary and spelling. 

3.2. MULTIPLE-CHOICE TEST 


In response to the multiple-choice test given to them, the students' answers were analysed, and the following table gives a summary of the analysis. 
	Table 1: Various grammatical unit errors and their percentages 


	Grammatical Items
	Number of Frequent Errors
	Percentage

	Yes/No questions
	1495
	9.57

	Articles
	1535
	9.83

	Preposition
	2247
	14.39

	Wh-questions
	2316
	14.83

	Negation
	2315
	14.83

	Relative Clauses
	2571
	16.46

	Verbals
	3137
	20.09

	Total
	15616
	100.00%



Table 1 shows the number of frequent errors and their per​centages in the grammatical items which the students committed in the multiple-choice test. The grammatical items in which the students made the highest number of errors are relative clauses and verbals: relative clauses show 16.46 percent and verbals, 20.09 percent. 

3.2.1. ARTICLES 


However, each grammatical category mentioned in Table 1 will be analysed, described and clarified with actual examples of errors committed by the students. The following Table will give a picture of the first grammatical item, i.e. the articles.
	Table 2: Articles errors description  


	Articles
	No. of errors
	Percentage

	An
	123
	8.01

	A
	178
	11.60

	The
	247
	16.09

	Zero
	987
	64.30

	Total
	1535
	100.00%



Table 2 tells us about the areas where the students made frequent errors in the use of articles. They are confused espe​cially in the use of the and zero articles. Their percentages are 16.09% and 64.30% respectively. In other words, they use the definite or indefinite articles in places where it is not re​quired and vice-versa. Besides other reasons this is probably due to the interference of their mother tongue, Arabic, which has only two articles, definite and indefinite. Here are some exam​ples:

1.
Please give me a books.


2.
Please give me book.


3.
They have a money.



4.
They have an money.



5.
They have the money.


6.
They have to go to a work.


7.
They have to go to an work.


8.
They have to go to the work.


9.
These books are a very cheap.


10.
These books are an very cheap.

11.
These books are the very cheap.

12.
She has new car.




13.
She has an new car.




14.
She has the new car. 




A careful look at the sentences (1) through (14) reveals that the indefinite a (an) and definite the replaces the o/ arti​cle. This means that some errors are interlingual and others are intralingual. For instance, sentences (2), (8) and (12) are ascribed to the mother tongue interference whereas the remaining are developmental errors. So it can be inferred that the students do not know the use of the articles. In fact, they do not know the difference between countable and uncountable nouns though they have spent six years learning English. 


Whitman (1974) argues that the English article structure is a series of quantification and determination rather than a choice between the specified and the unspecified. There are four kinds of articles: (1) neither quantifier nor determiner, general in quantity and indefinite, e.g. boys, water; (2) quantifier only and numerals, e.g. one, two, three; non-numerals, e.g. a, an, some, Several; (3) determiner only, e.g., the boys; and (4) both quan​tifier and determiner, e.g. some of the boys. Whitman also con​firms that article in English has been always regarded as one of the most difficult problems to be mastered by foreign learners. 

Katuza (1968) thinks that diversity of the use and omission of articles with proper nouns are the main obstacles to foreign learners at every stage in their study of English. The articleless forms of nouns do not give us a clear concept of their nature whereas the proper nouns remain descriptive.  For instance, the United Kingdom tells us that it is an area unified under one King or Queen contrasting it with Britain  which tells us nothing about the country.  

     
Cartledge (1960) argues that use of the definite article may be simpler to comprehend than the indefinite one. It points out to one particular representative of a class whether the class is count​able or uncountable. The indefinite article on the contrary does not occur in the plural, some takes its place. 


Again, in English a common noun must be accompanied by a determiner. For example, Swallow is bird, Mountain is high or I take book. These mentioned sentences are incorrect in English due to this reason. 


In one of their studies, Scott and Tucker (1974) found that the article system ranks third among the most repeated errors. The second most repeated kind of errors is omission of the defi​nite article, one fifth of which is ascribed to mother tongue interference.  Most of these errors are ascribed to native lan​guage interference from structures that demand the article in Arabic, but not in English. 


Almost half of the errors committed with articles by Scott and Tucker's informants are not ascribed to native language interference. They are attributed to the intralingual source. For instance, the article a is used with uncountable nouns, e.g. milk, tea, and lunch. Also, this article is used with plural nouns. Other errors which happen at times are the application of the indefinite article where the definite is required and vice-versa. 

     
Scott and Tucker (1974) conclude that Arabic indicates nouns as indefinite or definite by the absence or present of the arti​cle. Errors of omission of the indefinite article in English are ascribed to the native language interference. Almost 30 percent of the errors dealing with the use of articles are omissions of the indefinite article. This kind of errors is the most fre​quent. 


Shaheen (1984) believes that the interference of first lan​guage results from various relationships that exist between the definite and indefinite phrases.  Arabic equivalents of words like paradise, happiness, God, Autumn, woman and man demand /al/ 'the' in areas where omission of the article is required in the corresponding English equivalents, e.g. i) He got the happiness. ii) The God created the man. In regard to the indefinite article a, the tendency of some Arab students is to use it with a plural noun accompanied by an adjective where it should occur in Eng​lish, iii) amoral for moral, areligeous for religious.  


Tushyeh (1996) supports Shaheen and other researchers and says that Arabic has no indefinite article, but a definite arti​cle. In Classical Arabic indefiniteness is expressed by the suffix of the noun. For instance, /waladu/ boy /waladan/ 'two boys', /kitaab/ 'one book' /kitaaban/ 'two books'.  There are also some omissions of the definite article with uncountable and abstract nouns which demand the definite article in Arabic but not in English. For example, (iv) He is afraid of the death; (v)  She does not respect the friendship; (vi) Do not waste the time. 


Kharma (1981) argues that the expected error that results from Arabic interference is the use of zero articles (Ø) for a (an) of English. But Arabic demands the use of the definite article /al/ even when uncountable and/or abstract nouns are used, e.g. /almau:/ water, /almout/ death. Therefore, this factor contrasts with the general Arabic belief considering the use of indefinite a (an). He confirms that the use of English articles, both indefinite and definite, is a dangerous and difficult problem for the Arabic speaking learner. It can be concluded that most of the errors gather around the proper and plural nouns. Other errors are ascribed probably to wrong learning strategies as overgenerali​zation or false analogy.  

3.2.2. PREPOSITIONS
     The prepositions' rank in the multiple-choice test is fourth in order of the total frequent errors (see Table 1). The order is like the following: i) verbals, ii) relative clauses, iii) nega​tion and wh-questions, iv) prepositions, v) articles, and vi) yes/no questions.  Table 3 below illustrates what the students did in the multiple-choice test so far as the prepositions are con​cerned. The prepositions that the students were most confused about are on, at, in.  They produced 37.21%, 16.47% and 12.19% errors respectively.  The other prepositional errors the students committed lie between 4% and 10%.
	Table 3: Prepositions errors description 


	Prepositions
	No. of frequent errors
	Percentage

	Near
	82
	3.64

	Behind
	219
	9.75

	next to
	233
	10.37

	Under
	233
	10.37

	In
	274
	12.19

	At
	370
	16.46

	On
	836
	37.21

	Total
	2247
	100.00%



Most errors that the students committed in the multiple choice test (prepositions section) are intralingual when others are ascribed to their mother tongue (Arabic) interference. The following examples of the frequent errors will drive home the point: 

15.
Ali puts his ruler and pens on the drawer.

16.
Ali puts his ruler and pens next to the drawer.

17.
My father and mother always keep their books in the shelf.

18.
My father and mother always keep their books near the shelf 

19.
Salma usually get up near six O'clock.

20.
Salma usually get up to six O'clock.

21.
Our teacher sometimes forgets his glasses in home. 

22.
Our teacher sometimes forgets his glasses on home. 

23.
Ali's flat is in the third floor. 

24.
Ali's flat is at the third floor. 

25.
Salma and her family are listening to the news in TV. 

26.
Salma and her family are listening to the news at TV. 

27.
Hamed's house is at Ali's.

28.
Hamed's house is in Ali's.

29.
Our younger brother always walks front of us. 

30.
Our younger brother always walks in front us. 

31.
Most students live next the University.

32.
Most students live to the University.

33.
My little child likes hiding above the bed.

34.
My little child likes hiding at the bed.

    
 In sentences number (17), (19), (21), (23), (25), (26), (33) and (34) the prepositions have been chosen wrongly and are ascribed to the mother tongue interference, because the preposi​tion in Arabic, i.e.  /fi/ in is equivalent to some English prepositions, e.g. in, at. Also another Arabic preposition, i.e. /ala/ is equivalent to some English prepositions, e.g. on, above as in sentence (33). The rest of the sentences, i.e. (15), (16), (18), (20), (22), (24), (27), (28), (29), (30), (31) and (32) which show wrong use of prepositions are ascribed to intralingual interference. Accordingly, the number of errors made by the students in the multiple-choice test, (preposition section) matches Richards' (1974) list of developmental errors. 


Ghadessy (1974) believes that prepositions are not only difficult for foreign learners, they are also difficult for the English grammarians to define and sub-classify.  He adds that in order to explore how prepositions function in English, we have to explain first which forms are to be perceived as prepositions and then explain how they are used. Subsequently, one of the main problems of learners who learn English as a foreign or second language is the correct use of prepositions. Shaheen (1984) empha​sises that the only source of such errors made by the students at the University level is the mother tongue interference. For instance,  the Arabic preposition /min/ from that goes together with verbs such as, to rid, to warn, to consist and to complain, is always interpreted by Arab learners as from. This preposition /min/ from is also likely to be interpreted as from after some English verbs as in the following examples: i) She received the letter from him. ii) He borrowed some money from his neighbour. In addition, Shaheen says that Arabic has a small number of prepositions, thus Arab learners get confused with English prepositions which are so many. 


Scott and Tucker (1974), in their study on Arab learners, report that prepositions rarely have one to one agreement between Arabic and English.  Preposition errors can be classified into three groups: i) intralingual interference or non-Arabic errors, ii) Arabic interference, and iii) a small set of ambiguous er​rors. They argue that half of the errors are attributed to native language interference and the remaining ones to intralingual interference, while at times nearly two third of the errors are ascribed to native language interference and one third to intra​lingual interference. 


Tushyeh (1996) holds that Arab students of English have a tendency to replace the Arabic prepositions which are equivalent to the suitable English prepositions, e.g.  afraid from  (of), treating with others (treating others badly), judge above (on) things, in (on) the fourth day and/or think in (of) her. 


In general, the errors of the students with prepositions in the multiple-choice test explain that the students are probably not exposed to adequate instructions or else they either neglect or do not know how to use the prepositions properly. The English curriculum of the eighth grade contains a good description of preposition usage that includes pictures and substitution drills. It can be said that a mastery of English prepositions might be relatively late for those who always learn English as a foreign or second language. 

3.2.3. RELATIVE CLAUSES


The following Table shows the kind of mistakes that were committed by the subjects in the use of relative pronouns: 
	Table 4: Relative clauses errors description 

	Relative clauses
	No. of  errors
	Percentage

	Subject pronoun  who
	233
	9.06

	Object of noun clause  what
	384
	14.94

	Subject pronoun which
	411
	15.98

	Object pronoun which
	425
	16.53

	Object pronoun whom
	543
	21.12

	Possessive pronoun   whose 
	575
	22.37

	Total
	2571
	100.00%


     
Table 4 shows all the frequent errors in the use of relative pronoun in the multiple-choice test (relative clause section). The relative clauses rank second so far as the grading of errors is concerned. Table 1 which shows the order of the other grammat​ical categories seems like this (1) verbals, (2) relative clauses,  (3) wh-questions and negation, (4) preposition, (5) articles, and (6) yes/no questions. Their percentages are 20.9%, 16.46%, 14.83%, 14.39%, 9.83% and 9.57% respectively. 

Table 4 above presents the misuse of relative pronouns in numbers and percentages whose 575 (22.37%), whom 543 (21.12%), object pron. which 425 (16.53%), subject pron. which 411 (15.98%), object of noun clause what 384 (14.94%) and who 233 (9.06%). From Tables 1 and 4, it can be deduced that the stu​dents know very little about the relative clause usage.  Here are some incorrect uses of relative pronouns found in the students' responses: 

35.
This is the man for who you are looking. 



36.
This is the man for that you are looking.

37.
This is the man for which you are looking.

38.
I prefer the person whom is always polite.



39.
I prefer the person what is always polite.



40.
I prefer the person why  is always polite.



41.
We like that building who Hosein lives in. 



42.
We like that building whom Hosein lives in. 



43.
We like that building where Hosein lives in. 



44.
My father told me to take the books what are on the shelf.

45.
My father told me to take the books who  are on the shelf.

46.
My father told me to take the books where are on the shelf.

47.
The player whom name is Sami is extremely good.

48.
The player who/which name is sami is extremely good. 


49.
The table whom/who/which colour is red is very old. 



50.
She does not know which is going on.




51.
She does not know that is going on. 

52.
She does not know why is going on. 


It is clear that most students misused the relative pronouns. In sentences (35), (36), and (37) the students were required to choose the object pronoun whom but they chose the wrong relative pronouns who, that, which. In sentences (38), (39) and (40), they were also wrong. They replaced the incorrect relative pronouns with the wrong ones as well, i.e. whom, what and why. The same problem was repeat​ed in sentences (41), (42) and (43).  They failed to choose the right object pronoun instead of which they used the incorrect ones, who, whom, where. Also, in sentences (47), (48) and (49), they failed to choose the right relative pronoun. They chose relative pronouns, i.e. what, who, where which are not suitable for the sentence structure.  In (13), (14), and (15), instead of the relative pronoun whose, three fourths of the students chose the incorrect ones, i.e. who, whom, which. In respect of the relative clauses, in Table 4, the students produced 22.37% of errors. The relative pronoun whose has secured the first rank so far as the frequency of errors in relative clauses is concerned. Finally, in the last three sentences, i.e.  (50), (51), and (52) the students failed to choose the correct relative pronoun what in the position of the object of the noun clause.  They chose the wrong ones, like which, that, why. 


The errors committed in this area of grammar are not ascribed to mother tongue interference, but to intralingual interference. Corder (1973) states that not all errors resulting from the learning process are related to mother tongue. When a child acquiring English says: I seed him, we say he is producing a form on the basis of analogy (look-looked, see-seed). It can be said that he is overgeneralizing the rule of past tense forma​tion. White's (1971) and Dulay and Burt's (1974) studies on children’s L2 acquisition show that first language interference accounts for only 4.7% of the children's errors while developmental strategies account for 87.10%. Duskova (1969) believes that many errors are related to overgeneralization of a pattern causing interference between forms and functions of the language being learnt.  Bhatia (1974) agrees with Duskova and says that the sources of linguis​tic interference are not confined to the mother tongue of the students alone. In many cases it is due to lack of learning rather than interference from the first language. Bhatia sup​poses that the learner's errors are traceable not only to native language patterns but also to internal interference of the target language. Jain (1975) supports Bhatia and Duskova and says that not all errors are the result of the transfer of a structure from the student's native language. He further adds if the teacher seeks the source of errors in the vocabulary, he will be disap​pointed. Like other scholars, Seliger (1978) believes that the cause of developmental errors is believed to be found in the increased amounts of language input and feedback that result from intersection. 


Sunderman (1978) states that since the relative clause formation in English shows similarities with the Arabic relative clauses formation, they will possibly be difficult to master for the Arab learners of English.  He argues that when two language structures are the same, it is expected that the learner will maintain the Arabic surface structure in the English relative clauses.  Scott and Tucker (1974) say that clauses where the relative pronoun is the object of a preposition are rarely used by Arab learners.  Tushyeh (1996) agrees with Sunderman (1978) and Scott and Tucker (1974) and says that in respect of the similarities found between Arabic and English particularly  in relative clauses, Arab students of English produce errors in the following relative clauses. 

Relative pronoun morphology:  The use of whom for who and 





 who is for whose. 

Relative pronoun selection:  The use of which for 





humans, (e.g. The boy which 





is playing football.) 

     
On the basis of the above errors made by the students it can be concluded that either the students did not know the relative clauses formation rules or they were exposed to bad techniques of teaching. Corder (1973) categorizes errors into two groups: those which are normal to the learning and teaching processes and those which are caused by faulty teaching materials, faulty teaching methods and faulty learning.  

3.2.4. VERBALS

The verbals rank first as they cause the highest number of errors, i.e.  20.09% as shown in Table 1. Table 5 displays the frequent errors of verbs, their numbers and percentages.
	Table 5: Verb tense and verb form description 


	Verbals

	No. of Frequent errors
	Percentage

	Verb tense
	726
	23.14

	Verb form
	2411
	76.86

	Total
	3137
	100.00%


3.2.4.1. VERB FORM 

     
The verb form errors are 2411 (76.86%) and those of the verb tenses are 726 (23.14%). So it is clear that the students commit​ted more errors in the verb forms than those in the verb tenses. The following examples of errors taken from the subjects' papers will illustrate the point. 

53.
She is eats her breakfast.

54.
They are work their homework. 

55.
We have being here since last Monday.

56.
These buildings were building in 1963.

57.
Salwa and her mother want to bought pencils.

58.
Glass windows are break.

59.
After he has finish his homework, he goes outside.

60.
Sami and Samia were played football in the garden.

61.
They have had been asked so many questions in 


the interviews.

62.  
Khalid and his sisters had meeting their uncle in the market

63.
If you leave the office, please closed it.  


The most frequent errors made by the students in the multi​ple choice test, (verbal section) are in the form of the verb.  The above sentences, i.e. (53) to (63) evidence it. The terms like is eats, are work, have being, were building, want to bought, are break, has finish, Sami and Samia were played, may have had been asked, had meeting and please closed it are incor​rect.  The students failed to choose the right forms while fill​ing in the blanks in the multiple-choice test. In fact, these errors cannot be ascribed to the learners' native language, Arabic, rather these should be treated as a cause of intralingual interference. George (1975) confirms that when clauses of time are presented, interactions among the forms of tenses are pre​dictable, for example: 


Input




Output


I go




I go


I am going 



I am going

                            



I going 







I am go (George 1975:277)
     
Taylor (1974) says that the errors committed by children who learn a second language are similar to those committed in their mother tongue. These errors identically engage syntactic simpli​fication, rule overgeneralization and reduction of syntactic redundancies. He adds that second language errors may come from an inherent difficulty in the target language itself. Wolfe (1967) makes a similar claim that interference from the target language is the cause of many second language errors. According to Johnson (1975), foreign students of English make ungrammati​cal and semi-grammatical sentences of the same kinds as native learners do. Corder (1973) maintains that not all errors result​ing from the learning process  are not related to the learner's native language. He overgeneralizes the rules for formation of different structures and creates unacceptable ones. Brown (1987:178) reports that when native Spanish speakers were asked to translate Spanish sentences into English, they produced nine different types of errors in most of which the auxiliary becomes the main verb in which context e.g.(i) past-tense form of the verb following a modal (He can wrote). (ii) third person singular present-tense -s on a verb following the verb to be (He is eats).


The Arab students are aware of the different verb forms in the present tense, but their knowledge of the different meanings of the same tense is very weak (Hawass 1975). Therefore, they often commit errors while using the English verbs. 


The grammatical units that the Arab Learners might be con​fused with are presented here. (iii) Omission of the verb to be, 

e.g. My girl friend beautiful. The structure of this sentence is acceptable in Arabic because it has a subject and predicate ;(iv) misuse of English verb form, i.e.  They has new cars; and (v) omis​sion of the present tense markers in the third person singular, i.e. He speak. Since Arabic does not have copula, omission of the verb ‘to be’ is often expected and can be ascribed to the mother tongue interference. Additionally the Arab learners have some intralingual confusion. They often use the verb to have in place of the verb to be and sometimes use them together, i.e. He has are good friends.  The Arab learners frequently add the past tense marker of regular verbs to irregular ones.  For example, Ali builded that palace thousands years ago (Sunderman 1978). 

     
Scott and Tucker (1974) report that finite verbs particular​ly past tenses are wrongly formed, e.g. drive-drived, catch- catched.  Another common error is be + verb, that is the use of the infinitive instead of ing form after the verb ‘to be', e.g. (vi) The boy is played football. Scott and Tucker (1974) add that nearly half of the errors occur after the relative pronoun who. For instance, The people who is standing beside each other will marry.  Thompson-Panso and Thomas-Ruzic (1983) say that Arabic is a highly formal language, while English uses many tenses.  Arabic has only two aspects, i.e. the perfective and the imperfective.  The imperfective aspect refers to a situation not yet completed.  While the perfective is applied to express a completed action. Difficulties in English can appear in aux. + modal + base which are often mixed up by Arab learners with the particles, perfec​tive or imperfective verb structure in Arabic.  These types of errors are common, e.g. (vii) I didn't went to school; (viii) She might didn't understand. In addition, the progressive form in Arabic is often denoted by adjectives which are derived from the verbs.  Question formation in Arabic also involves an adjective which is derived from verb. For example, in Arabic, (ix) Where you going? is used  for Where are you going? Going, in this interroga​tive sentence functions as an adjective.  
3.2.4.2. VERB TENSE


As stated earlier, the number of errors committed in the verb tense is 726 (23.14%).  The following are some examples of such errors: 

64.
Amna is helping her mother everyday.

65.
The shopkeepers sometimes are speaking English.

66.
Prices are good last year.

67.
While we were sitting in the living room, the bell rings. 

68.
Next week, we have had a big party.

69.
Next week, we may have had a big party.


In sentences (64) and (65) the subjects chose the wrong tense, is helping instead of helps and are speaking instead of speak, though there are two adverbs everyday and sometimes in these sentences respectively.  If they were aware of the func​tion of these adverbs, they would have chosen the right verb tenses to fill in the blanks.  


In sentence (66) the students chose the present tense verb form are instead of the past tense form were. They did not try to take into consideration the adverb of time, last year that is found in the sentence. In sentence (67) the subjects were sup​posed to choose the past tense form rang, but they chose the present tense rings which is unsuitable as it does not agree with the verb of the while-clause. In sentences (68) and (69), they failed to choose the right tense to fill in the blanks. They chose have had and may have had which do not agree with the future indicative adverb next week. The correct choices would have been have and may have respectively. Consequently, the above errors are ascribed to either lack of knowledge or intralingual interference. This logical inference will be supported by opin​ions of the researchers who have investigated the errors commit​ted by learners of English as a second or foreign language. 


White (1971) says that the developmental errors include error of tense, omission of articles and the third person singu​lar present tense marker -s.  The most errors the subjects made are tense errors, some of which are interlanguage errors and all others are developmental ones. The two major sources of errors that Duskova (1969) observed in her study are negative transfer and interference from the other forms of the target language.  Schachter (1974) claims that many language learning errors do not come from the native language interference, but from the strate​gies used by the learner and as well from the mutual interference of items within the target language. Taylor (1975) believes that the strategy of syntactic overgeneralisation can be introduced as a process in which a language learner applies a syntactic rule of the target language inappropriately when he tries to produce new target language sentences.  He adds that a large number of errors that second language learners commit can be ascribed to the target language.  Errors stemming from that source have been referred to here as overgeneralization errors.  All the present tense verbs for all persons except the third person singular take a zero morpheme. The third person singular verb takes -s. But both have been collapsed into a rule that takes a zero-morpheme in all persons. Wittich (1979) believes that the intralingual interfer​ence is counted on the false use of rules or norms taught about the target language. 

     
Tushyeh (1996) states that errors committed by Arab learners in the English verb tenses are as follows: (i) Misuse of verb tenses in English, e.g., they have go/went to school.  English has a number of tenses, e.g. simple present, simple past, present perfect, past perfect and four continuous aspects.  As mentioned above Arabic has only two aspects, the perfective and the imperfective; (ii) Partial verbs are very difficult to be learnt by Arab learners of English e.g. get up, get down, get off, get on; (iii) Clauses, progressive and perfect tenses are confusing to Arab students of English.  Sunderman (1975) also says that the English tense system is particularly difficult for the Arabs since Arabic itself has only two aspects which just correspond to English past and present.  Therefore, most verb tense errors are systematic, some of which are attributed to the use of present, progressive verb tense in the main clause, supplemented wrongly by the past verb tense in the subordinate clause, e.g. (iv) We are cross the desert area where the shepherd inhabited there.  They get also difficul​ty in using simple and perfect tenses, e.g. (v) I saw her since 27 years, and the use of the present progressive tense instead of the simple present tense, e.g. (vi) I am keeping to all my friends. 


Scott and Tucker (1974), in their study, found that many errors that Arab learners frequently commit are ascribed to the non-use of the third person singular present tense marker-s, which is considered a performance error. Duskova (1969) argues that these kinds of errors may be attributable to the pressure from all other endless forms which do not have any marker at the end.  Arabic verbs agree with the number, gender and person of the subject, and therefore cannot be definitely ascribed to the mother tongue interference.  


Scott and Tucker (1974) classify the errors of tense into four categories. The first category reverses the use of different tenses in a coordinate position.  The other categories of errors are caused by the use of wrong tenses in sentences with subordi​nate clauses. Arabic demands that the same tense be used through​out a coordinate conjunction.  Thus, these are not due to the mother tongue interference. Most of such errors have a past tense before the conjunction and a present or unmarked tense after it. Scott and Tucker (1974) conclude that it seems to be a late acquisition in learning the English verb system. 


The wrong use of verb tenses poses acute problems for Arab learners of English. The often observed source of difficulty for Arab learners is the series of verb tenses in clauses (Thompson-Panso and Thomas-Ruzic (1983:616). 

3.2.5. YES/NO QUESTIONS


The following Table summarizes the errors made by the subjects in the yes/no question section of multiple-choice tests.
	Table 6: Yes/No question verb form and verb tense description

	Yes/No question 

	No. of frequent errors
	Percentage

	Verb tense
	452
	30.23

	Verb form
	2411
	69.77

	Total
	1043
	100.00%



The learners produced 1043 errors in the verb forms (69.77%) and 452 errors (30.23%) in the verb tenses. Most errors in this area are due to the wrong choice of the verb forms of (i)to be (e.g. is, am, was, were); (ii)to do (e.g. do, does, did, done) and (iii)to have (e.g. have, has, had) which are called operators (Quirk et al. 1985:80) along  with modal auxiliaries by which interrogative sentences are made. The most repeated instances of errors that the subjects committed are presented and described below (for the details see Appendix B-1):   

70.
Are you speak Arabic?






71.
Done he write a story?






72.
Does he and she do their homework?




73.
Has had they read the article?




74.
Has Ahmed and Saleh gone?





75.
Must you like something to drink?




76.
Have they come to you everyday?




77.
Had they come to you everyday?




78.
Was Ali writing a letter now?





79.
Do your grandmother visit you tomorrow? 



In question (70) the subjects failed to choose the right choice that is suitable for the interrogative sentence. They chose the wrong form are instead of the right one can. In ques​tions (71) and (72) they chose the unsuitable forms, done and does instead of the correct forms does and did. Incorrect choices are repeated in questions (73), (74) and (75) also. Instead of the wrong forms, has had, has and the modal must, the right ones would have been, have, have and the modal would. 


While looking at the questions (70) through (75) we find that all the operators chosen are quite wrong.  In question (70) the chosen operator are does not agree with the verb speak because it is in the simple present tense. In question (71) the operator is not suitable for the main verb write because done is the past participle of do. In (72) there is no subject-verb agreement because the operator does does not agree with the plural subject he and she. In questions (73) and (74) the opera​tors are not acceptable because the structure Has had they read the article? is not found in English. In question (74), there is no subject-verb agreement. The operator has does not agree with the plural proper nouns Khaled and Saleh. In question (75) the modal auxiliary must is not suitable for this interrogative statement because must is used for other grammatical functions, such as obligation, necessity, or probability. 

In questions from (76) to (79) the operators chosen are wrong because they contrast with the tenses used in the interrog​ative statements. In question (76) the operator have does not agree with the adverb everyday. The operator had has the same problem in (77).  The operator in question (78) does not agree as well with the adverb now indicating the present continuous tense and there is no subject-verb agreement. The operator in question (79) is not acceptable because of the adverb tomorrow that indicates the simple future tense. 

3.2.6. Wh-QUESTIONS


Table 7 presents the wh-question errors and their percent​ages committed by the learners in the multiple-choice tests.  The most repeated errors taken from the students' responses are analysed and described below:
	Table 7: Wh-words errors description 

	Misuse of Wh-words 

	No. of frequent errors
	Percentage

	How (many or much)
	82
	3.54

	Who  (subject)
	165
	7.2

	Why (reason)
	178
	7.69

	Where (place
	192
	8.29

	Which (quantity or group)
	219
	9.45

	How (adjective or adverb) How nice is she?

Short tall
	233
	10.06

	What (subject)
	329
	14.21

	Whom (object)
	411
	17.75

	What (object)
	507
	21.89

	Total
	2316
	100.00%


     
The wh-words rank third in the grammatical errors (see Table 1). The number of errors the students made and their percentage in the area of wh-questions are 2316 and 14.83% respectively. In addition, Table 7 tells us about the errors the subjects commit​ted with each wh-word. 


These errors can not be ascribed to the native language interference of Arabic because Arabic has only one operator, the particle hal while English has so many operators such the verb to be (am, is, are, was, were), the verb to do (do, does, did, done, the verb to have (have/has, had) and modals (can, could, may, might, will, would). In fact, these are due to intralingual interference or lack of knowledge of the learners caused by inadequate exposure and practice or improper teaching technique. 


French (1949) believes that most common errors do not come from forgetfulness, carelessness and indolence of the learners, but they are committed while trying with all honesty. He empha​sizes that native and foreign learners both show the same pit​falls like: 

(i) Do you prefer football (than) cricket?
(ii) Being a wet day, we wore rain coats (taken from American            and British class books).


Jain (1974) says that generalizations of several inflections based on a fairly high degree of regulari​ty in the surface structure of English are common for both for​eign learners and native children. He agrees with French (1949) and says that errors refuse classification because they mix with each other as grey shades off in blue. Corder (1973) adds that mistakes of this kind increase when we are tired, nervous or in some sort of situation of stress or uncertainly or when our attention is scattered or we are absorbed in some non-linguistic activity.  Brown (1987) says that if on one or two occasions, for instance, an English learner says (iii) John cans sing, but on other occasions says, (iv) John can sing, it is difficult to determine if can is a mistake or an error.  

     
Taylor (1975) maintains that when the learner generates this interrogative utterance, (v) Did they studied last night? he points out to his rule that since the statement is past, all verbs are in the past. When the learner produces this interrogative state​ment, (vi) Does she can cook well? he informs us that his rule for question formation is that every question has a do. On the basis of this study, Taylor points out second or foreign language students start counting on their capacity to analogize, systema​tize and regularize the target language data to which they are subjected, immediately upon starting to learn the new language.  For this reason they use, quite predictably, (vii) He went?  (viii) and He went where?,  for Where did he go?  (ix) He went when?.  for When did he go?  George (1975) argues that it is hard to convince students to change from the former to the latter.

Ravem (1974) adds that the English learner has to know the exact function of operator Do as a tense-carrier.  This may help him to know why the Do-support transformation creates a special difficulty for foreign students of English. The English Do does not have any equivalent in Norwegian. Felix (1981) argues that both second and first language students with various first language backgrounds learn the interrogative constructions of Eng​lish in a similar way. The earliest yes/no questions formed from sentences with the verb to be are often intonationally marked, e.g. (x) This is a flag?; (xi) It is a big show?; (xii) It's a big pencil? While learners rightly use the inversion transformation in yes/no questions, the earliest examples of wh-questions have no NP-aux inversion: For instance, (xiii) what they are picking?; (xiv) What you are doing?; and (xv) How many Turkeys she is feeding.  Felix (1981) maintains that this type of structures is found in both first and second language learning.  The remarkable thing Felix found in his study on German informants is that they are quite confused in recognizing a yes/no question from a wh-question. They answer yes/no questions in 33% of the cases as though they were wh-questions and vice-versa.  Felix reports that first language students yielded wh-questions that had no wh-question word.  They actually had the yes/no question structure.  


Burt and Kiparsky (1972) recommend that errors should be organized according to the learner performance or what he has to learn.  It often makes clear what the learner does not know about grammar and what rules he must learn to avoid particular mistakes or errors, for example. 


  Do I must go?


: xvi)
Yes/no question  


  Why do you are leaving?

: xvii)
Wh-questions


  I don't can speak.


: xviii)
Negation


Burt and Kiparsky state that these three examples of errors sound quite Un-English. Schumann (1974) reports that second language learners are almost often inclined to omit some grammat​ical transformations that are redundant and therefore they yield question forms that are found in a pidgin, e.g:

(xix) 
He open the door?
(xx)
Where he put the book?
(xxi)
What she say?

Furthermore, Duskova (1969) states what is more diffi​cult is a category showing differences in its functions and not found in the mother tongue. Consequently, the learner has no reference to which he can attribute this explanation in the foreign language. The structures of those two grammatical units of English, i.e. yes/no questions and wh-questions are completely different from those in Arabic. As a result, Arab learners of English often find it difficult to learn the yes/no questions and wh-questions. 


In yes/no questions, the learners have to look at the tense of the sentence, then decide the suitable operator and put it before the subject of the sentence. In wh-questions the learners have to know the wh-element; the tense element, then if the wh- element is the subject, they need not change the word order; if the wh element is the object or some other element, they have to put the wh-element before the subject and the operator between the wh-element and the subject. On the contrary, in Arabic there are some interrogative particles, one of which has an equivalent in English. It is the interrogative particle /hal/ whose English equivalent is 'be', 'do', 'have'.  For making questions in Arabic the interrogative particles have to be placed before the subject of the sentence.  They do not have to look at the tense of the verb, as they do in English yes/no and wh-questions. In addition, the Arabic interrogative particles do not affect the sentence structure or word order.  For example, the interrogative particle hal which does not have any equivalent in English is used to ask about humans and things too. For example:

a)
This is Ali.
  
/haða ali/ (The symbol / ð / is pronounced as th in that)

b)
Is this Ali?
  
/hal haða ali/?
c)
This is a bag.

  
/haðehi hakeba/.
d)
Is this a bag?
  
/hal haðehi hakeba/?
e)
Ali went to school.
   
/  ðahaba ali ila al-madrasa/.
f) 
Did Ali go to school?
   
/hal   ðahaba ali ila al-madrasa/?
g) 
Ali will go to school.
   
/saya  ðhab ali ila al-madrasa/.
h) 
Will Ali go to school?
   
/hal saya  ðhab ali ila al-madrasa/?

Mukatash (1981) states Arab learners always produce errors in word order, auxiliary omission, auxiliary redundant and/or auxiliary replacement. Regarding the word order, he presents these wh-question errors made by his informants and he thinks these have been directly translated from Modern Standard Arabic:

(xxii)
What the group is doing?
(xxiii)
Where Mrs. Smith was cooking?
Like Menyuk (1969), he reports that the same deviant questions are also committed by children whose mother tongue is English, e.g. 

(xxiv)
What you are doing?
(xxv)
What they are done?
(xxvi)
What they doing?
Mukatash (1981) further reports that the same deviant questions in English were committed by speakers of different languages; Polish, Norwegian, Burmese, French, Czech, Japanese, and Chinese. For instance: 

(xxvii) 
When John will read the book?
(xxviii)
What he is doing?
(xxix)
Why this man is cold?
(xxx)
How many brothers she has? 


Richards (1974) believes that no one can quite decide the source of errors in wh-questions. But Mukatash thinks that they are ascribed to the Modern Standard Arabic interference. He cites the following examples:

(xxxi)
He should buy a typewriter.


What he should buy?
(xxxii)
He bought a typewriter.


What bought he?

As for yes/no questions, Mukatash (1979) says that the verbal forms errors, e.g. 

(xxxiii)
Does he knew the answer? 

(xxxiv)
Does he knows the answer? 
are not ascribed to the Arabic interference. This erroneous ques​tion, Does he knows the answer? where the third person singular present tense marker -s is applied twice, is an apparent instance of hyper-correctness. As a result, the third person-singular present tense is a permanent problem for Arab learners. Sampson (1974) and Richards (1974) hypothesize that the problem's origin is probably found in the structure of English itself.  All per​sons have a zero ending on the verb in the present tense while the third person singular is an exception. It takes the third person singular present tense marker -s. Therefore, Arab learners over​generalize the zero verbal ending in the first and second per​sons.  Inversion errors without do, Mukatash (1979) believes, are a direct interference of Arabic. Raven (1974) also says that the inversion errors without Do come from the mother tongue interference, Norwegian, as in like your ice-cream? But Rich​ards (1974) does not agree with either Mukatash (1979) or Raven (1974) and says that no one surely can determine the source of errors in wh-questions. Mukatash concludes that the redundant errors e.g.

(xxxv)
Are/Were the boys can write?

(xxxvi)
Is/Was the boys can write?

(xxxvii)
Do/Does/Did the boys can write? 

are attributed to interlingual interference, that is the modern standard Arabic in which Arab learners think that the operators, be, do, have are equivalent to the Arabic interrogative particle /hal/.  

3.2.7. NEGATION

Table 1 given above shows the errors the students committed with their numbers and percentages in each grammatical category. In the use of negation the subjects committed 2316 (14.83%) errors. Its rank is third in order. Also, Table 4 in Chapter One shows that 24% of the teachers believe that the students get confused with the negation usage and 65% of the teachers think that the learners sometimes commit errors in using the negative operator.  The teachers' responses tally with the rank of the students' re​sponses, found in Table 1. 


Among the errors the learners committed in the multiple choice test, the use of negation is noteworthy. The following errors have been selected from the students' responses. 

80.
He and she not is here.

81.
We not was playing.

82.
She not do know how to cook.

83.
They not will travel tomorrow.

84.
It not may rain.

85.
This lady not be will happy if she stays here.

86.
You not must stay here.

87.
You do not must stay here.

88.
He do not can write with that pen.

89.
It may no rain.

90.
They are not sleeping when their father came.

91.
The plane do not take off on time.

92.
Khalid and his friend has not come yet.

93.
Khalid and Abdu usually does not leave early.


In questions (80) and (81), the students failed to choose the right negative operator. They chose wrong answers like, not is and not was instead of are not and were not respective​ly. In questions (82) and (83), the wrong negative operators which the subjects chose are not do and not will. The right answers are, does not, will not. In questions (84) and (85), the same improper use   of   negative operators is repeated.  In (84) not should have been used after may.  The error in (85) is that it consists of three elements, the negative particle, not, be and the modal will while all others have only two.  The negative operators are completely incorrectly used in (86), (87) and (88). In (86), the negative operator must not come before the modal must.  In fact, the subjects succeeded to choose the negative operator do not in (87), but it is in the wrong posi​tion. It would have been correct, if the modal auxiliary must was not there. In (88), the problem is similar to (87) besides the non-use of the third person singular marker-s with do. In (89), the negative particle no is preceded by the modal auxiliary may which is wrong.  In question (90) the students did not suc​ceed in choosing the right answer because it creates a mismatch between the verb tenses of the main clause and the subordinate clause. In (91) do not does not agree with the third person singular subject of the sentence.  In (92) the chosen response is suitable from the tense point of view, but there is no subject verb agreement. Finally in (93), the choice is completely incor​rect because here too, there is no subject verb-agreement. 


Thus, based on the errors which the learners committed in the area of negation, it can be said that the learners have a poor knowledge of negation. 

     
An overgeneralization occurs when the second language learn​er performs in the target language. Children at a particular stage of learning English as their native language overgeneralize the regular past-tense form with -ed, e.g. walked, opened along with goed, flied until they are introduced to a group of verbs which belong to the irregular verb category.  Similarly, the second language learners often generalize within the target language. (Brown 1987). For example:

(i)
John does not can study.

(ii)
He told me when should I get off the train.

Richards (1974) and Brown (1987) argue that overgeneraliza​tion is an effect of particular learning strategies within the target language. Such learning strategies appear to be universal​ly employed when a learner is exposed to second language data. It is not surprising that many errors found in second language communication are identical despite the speakers' differential language background.  Cook (1969) says that there are three stages of the development of negation in children.  At stage one, negation rule is that the partial negative comes at the beginning or at the end of the sentence. For instance, (iii) No singing son, (iv) not a teddy beer, (v) wear mitton no.  At stage two, the chil​dren simply use don't and can't before the auxiliary verbs ap​pear. For example, (vi) I don't sit on Cromer coffee.  At stage three rules permit the auxiliaries to appear in both positive and negative sentences, e.g. (vii) I don't want cover on it, (viii) I didn't see something. Such sentences are produced by the learners who learn English as a second or foreign language also.  For in​stance, (ix) Black pencil no, (x) Me cut paper no, (xi) Glulam no give glue.  The first two sentences are similar to the negation rule at stage one, whereas the third is similar to the negation rule at stage three.


Felix (1981) reports the acquisition of both the first and the second languages is probably controlled by the universal principles of language acquisition learning.   On the bases of his study on German students, he presents the following incorrect elliptic sentences produced by his informants. 

(Xii)
Teacher
:
Is it a bag?


Student
:
Yes, it is not. 

(Xiii)   Teacher
:
Is there a seat for Britta?


Student
:
Yes, there is not. 

(Xiv)
Teacher
:
Can you see a sofa in Peter's room?


Student
:
No, I can.      

     
From these examples it is clear that the concerned learners cannot negate utterances by either not or n't. Taking data from Bellugi (1980), Bloom (1970), Ravem (1974), Schumann (1975), Fillmore (1976) and Wock (1980), Felix (1981) reports that the elliptical utterances, Yes it is and Not it is not appear relatively late. During the first three weeks of his teaching, Felix found that his informants used no in the internal posi​tion, e.g. (xv) It's no my comb, (xvi) Britta no this, (xvii) Britta no have this.  These constructions nearly tally with the second stage. The following are a few other examples of negation:

(xviii)
Doesn't the people watch the lion.

(xix)
Doesn't I drink a cup of tea.

(xx)
Doesn't she eat apples.

(xxi)
Don't I like cake.

What the learners basically do in the sentences mentioned above is exactly what the first and second language learners are supposed to have done. Nevertheless, they can not decide the right position of the negative operator in the utterances. Al​though the learners have been taught the differences between don't and doesn't, they cannot use them properly.  For example: 

(xxii)
Don't stand behind the counter.

(xxiii)
You doesn't smoke pipe.

(xxiv)
Doesn't I drink a cup of tea.

(xxv)
Mother doesn't makes the birthday cake. 

     
Felix argues that the same errors probably take place in the speech of the first and second language students. 

     
On the basis of data obtained from a Japanese speaking child named Ken, Milon (1974) states that in the first stage there are neither negatives nor auxiliaries in the sentence. In stage one; Ken first uses an auxiliary verb in a negative sentence and then a negative morpheme which produces sentences that cannot be distinguished by the different stage rules proposed by Klima and Bellugi (1966). He also uses auxiliaries in both questions and state​ments throughout stage two.  Ken's ability provides evidence in support of the universal set of rules in language learning. He could learn English in a way in which he would have used it as a native speaker. This would be a significant piece of evidence for asserting that young learners learn all languages like a native tongue. Both native speakers and second language learners have access to the universals of language acquisition. 


Milon (1974) presents the negative transformation acquisi​tion in the following model. Learners first start negating by using no + verb, e.g. (xxvi) I no like ice-cream, (xxvii) He no can play baseball. Next, they use don't + verb structure, e.g. (xxviii) I don't understand, (xxix) I don't can explain. Then, learners acquire the negative structures which come after auxiliaries, like is, can, e.g. (xxx) He can't go. Eventually, they learn the details of don't (do not), doesn't (does not), didn't (did not), e.g. (xxxi) I do not go everyday, (xxxii) He does not speak French. (xxxiii) They did not have time.  


While commenting on Milon's (1974) study, Dulay  Burt (1974) and report that stage one puts the negator outside the nucleus and stage two puts the negator between the NP and VP although Milon does not indicate the Japanese negation construction in which a bound negative morpheme is always added to the right of the verb stem at the end of a sentence.  They add that Milon's study says that Japanese negative construction is not transferred to English - negative structures placing no and not before the nucleus as it was found in Ken's language. Ravem (1974) also gives the same evidence that his son Rune did not mix Norwegian constructions with those of English. For example: 

(xxxiv) horn arbieder ikk (He works not.)
(xxxv) 
vitok det Ikk (We took it not.)
Instead, he used the English structure N+Neg+VP. For example: 

(xxvi) 
I not like that,
(xxxvii)
I not looking for edge. 

Based on the errors committed by the subjects in the nega​tion category, it can be argued that Arab learners find it diffi​cult to use the English negative particle not which is almost always preceded by different operators because of two reasons: first, English has many tenses, each of which has a special form.  These tenses are presented below with their negative operators:

Verb 'to be': Auxiliary verbs
           Main verbs

Examples 


Present    He is not writing

He is not good


Past
   He was not writing

He was not good

Verb 'to do':  Auxiliary verbs

Main verbs

Examples 

Present
   don't study


do not do



   doesn't study

does not do

Past 
  
   did not study

did not do

Verb 'to have'
: Auxiliary verbs

Main verb

Examples 

Present   
    has not finished

Simple   :has not a car

Participle
    have not finished   
Present   have not a car

Past      
    had not finished

Simple   :had not a car

Participle



      
Past     (British English)






      
Simple   :do not have a car






      
Present  does not have a car






      
S.Past    did not have a car






  (American English)

Modal auxiliaries 



Have no main verbs
Examples




and cannot be used 


cannot/will not play


alone

should not play


 


may not play



 

Passive forms:


is not cleaned



is not being cleaned.


was not cleaned


was not being cleaned


has not been cleaned


have not been cleaned


had not been cleaned


will not be cleaned


cannot be cleaned


should not be cleaned


should have not been cleaned.

The second cause is that there are no similarities between the English negative particle not which is used in the internal position and which is almost always preceded by other operators. On the other hand, the Arabic negative, unlike the English not, is placed before the subject of the sentence. Arabic has four different negatives, which are used in different tenses. The negative verb laisa means am not, is not and are not. The parti​cle la means does not, am not, is not, are not. The negative particle lam means did not, have/has/had not, simple past to be were not +, past continuous tense was/were + not+verb+ing +,  and the negative particle /lan/ meaning, will not  (Aboud et al. 1975). In other words, the Arabic verb /laisa/ and Arabic nega​tive particle /la/ negate present actions and the Arabic negative particle /lam/ negate the past actions. 


The Arabic negative verbal particle /laisa/ is used to negate the Arabic equational sentences which have no verbs. It has different forms due to agreement with the subject. For exam​ple the third male person-singular subject has /laisa/ in the present tense while the third female person-singular subject has /laisat/ in the same tense. The negative verb is placed only before the subject or at the beginning of the Arabic sentence. The rule is like this: 

laisa/laisat + subject + predicate

Examples:

Affirmative
a)
Salwa is from the Republic of Yemen.



/salwa min al-gomhoria al-yemenia/.

Negative

Salwa is not from the Republic of Yemen.



/laisat salwa min al-gomhoria al-yemenia/. 

Affirmative
b)
Ali is from Yemen.



/ali min al-yemen/.

Negative

Ali is not from Yemen.



/laisa ali min al-yemen/.


In Arabic imperfective-aspect - negative particle /la/ is used to negate incomplete actions by placing it before the subject of the sentence. For example:

Affirmative
a)
He studies Arabic.



/yadrus al-lugha al-arabia/.

Negative

He does not study Arabic.



/la yadrus al-lugha al-arabia/.

Affirmative
b)
He is studying Arabic.



/yadrus al-lugha al-arabia/.

Negative

He is not studying Arabic.



/la yadrus al-lugha al-arabia/.


The imperative negative is also formed in Arabic by placing the negative particle /la/ at the beginning of the sentence. For example: 



a)  
go.



/i ðhab/ (ð  as in that, the).

Negative

Don't go.



/la teðhab/.



b)  
write.



/iktob/.

Negative

Don't write.



/la tektob/.

The Arabic perfect-aspect negative particle /lam/ meaning did not, have/has/had/not and was/were not is used to negate the verbs in the perfective aspect. It is always placed at the beginning of a sentence.

Examples: (Perfective aspect)

Affirmative
a)
He studied.




/darasa/.

Negative

He did not study.




/lam yadrus/.

Affirmative
b)
He has studied.




/darasa/.

Negative

He has not studied.




/lam yadrus/.

Affirmative
c)
He had studied.




/darasa/.

Negative

He had not studied.




/lam yadrus/.

Affirmative
d)
Ali was a doctor.




/Kana ali tabibun/.

Negative

Ali was not a doctor.




/lam yakun ali tabibun/. 

Affirmative
e)
He was studying.




/kana yadrus/.

Negative

He was not studying.




/lam yakun yadrus/.


The imperfective-future-tense negative particle /lan/ which means will not is also placed before the subject in an Arabic sentence. For Example:

Affirmative
a)
He will study Arabic.




/sayadrus al-lugha al-arabia/.

Negative

He will not study Arabic.




/lan yadrus al-lugha al-arabia/.

3.2.8. VOCABULARY

Table 8 represents all the errors which were committed in the multiple-choice test. It shows that the learners committed many errors in the area of vocabulary and spelling (orthography).  These spelling and vocabulary errors are respectively 3316, i.e. 14.47% and 3787, i.e. 17.39%. In comparison with the other gram​matical categories, the ranks of orthography and vocabulary errors are first and second respectively.  
	Table 8: Various grammatical units errors explanation

	Grammatical units 

	No. of frequent errors
	Percentage

	Yes/No questions
	1495
	6.52

	Articles
	1535
	6.70

	Prepositions
	2247
	9.80

	Negation
	2315
	10.10

	Wh-questions
	2316
	10.11

	Relative clauses
	2571
	11.22

	Verbals
	3137
	13.69

	Vocabulary
	3987
	17.39

	Spelling 

	3316
	14.47

	Total
	22919
	100.00%


     
The most frequent errors committed by the students in vocab​ulary are presented in the following examples:

94.
There are many historical hills in Yemen.

95.
Nobody likes her because she is nice.

96.
This table is making of wood.

97.
Yemen's people is about eighteen million.

98.
The hard-working labours always hand their homework on time.

99.
Forts live in mountains.

100.
Walking in the streets is generous (dangerous)

101.
We can't see it so it is not fair. (see Appendix B-1)

In sentence (94) the students opted for hills instead of the right word forts. In sentence (95) the chosen word nice is semantically anomalous in the context in the main clause. The right choice should have been ugly. In sentence (96) the verb phrase making of is incorrect because it is unacceptable in this sentence. The required form for the sentence is the passive form is made of which, the researcher believes, the students did not know.  In sentence (97) they opted for the wrong word people which does not fit the context of the sentence. It should have been population. In sentence (98) although students is the cor​rect choice they selected labours which does not fit here. This incorrect choice may be ascribed to the time pressure.  The students failed to choose the right words hares and dangerous and selected the wrong ones, i.e. forts, generous as in sentences (99) and (100). Finally, they failed to select the right conjunc​tion which is appropriate in sentence (101).  They opted for the wrong conjunction so instead of the correct one because. 

     
From these, it is clear that although the learners spent six years learning English, they were not able to select the correct words which are suitable both in the context and grammatical structure of English sentences. 


Knowledge of vocabulary is difficult to be measured. Its measurement is only proportional. The number of vocabulary items that the child should have is above 2000 words at the age of 6 while entering the elementary school.  When seven-year old, his vocabulary has to be 7000 words. However, at the age of 14 years, his vocabulary should possess about 14000 words. An adult's vocabulary has been estimated between 10,000 for non-academic persons and over 150,000 for professional scientists. University students are expected to know between 60,000 and 100,000 words (Richards 1985).


French (1949) believes that the learner always faces a difficulty in vocabulary learning.  He is actually unable to remember or select the word or group of words concerned with his need, therefore, the learners produce errors e.g. (i) I like to go to sleep now (he gets confused with wish). (ii) I like filled oil in that one (he gets confused with verb pour).  Errors are found only when the second language is put to active use by the students. Errors with verbs are less common than those concerned with sentence construction. If a learner is in doubt even about the spelling of a word, he will replace it by another word about which he is more confident. 


Thompson-Panso and Thomas-Ruzic (1983) say that both Arab and Asian learners of English as a foreign language often get confused in selecting and using vocabulary. They cannot be com​pared with those who have Roman and German language backgrounds. The use of different vocabulary items creates confusions and difficulties in all language skills. Arab learners rarely use an English dictionary. They often use a dictionary in Arabic in which words are organised in respect of their origin. Thompson-Panso and Thomas-Ruzic add that one of the most outstanding aspects of Arabic and other Semitic languages is the three-con​sonant root structure which is the basis of most of the words. They also report that word form errors happening in nearly 50% of all the students' corpus are the sixth most common error because Arabic and English have different distributions of nouns, verbs and adjectives.


Tushyeh (1996) agrees with Thompson-Panso and Thomas-Ruzic (1983) and states that Arab learners who learn English as a foreign language cannot be compared with those who speak European languages, e.g. French or German because these languages have many words which are like English words in form as well as in meaning.

3.2.9. SPELLING
     
The repeated spelling errors that the students committed are 3316 and their percentage is 14.47% (see Table 8). Table 9 con​firms what Table 8 expresses about the spelling errors of the learners. Most students committed errors while spelling through, interesting, dialogue, and guest. The spelling errors of other words are located between 188 or 5.67% and 31 or 00.09%. In short, the total number of spelling errors the learners committed is 3316 out of 6150 words in total and their percentage is 54%.
	Table 9: Spelling errors description 


	Words used 

in spelling multiple

choice test

Wrong

spelling    
	 Correct 

Spelling
	No. of frequent errors
	Percentage

	Emmegretion
	(immigration)
	31
	0.93

	Seinema
	(cinema)
	41
	1.24

	Ketshen
	(kitchen)
	68  
	2.05

	Nieghbuor
	(neighbour)
	80
	2.41

	Tomorrow
	(tomorrow)        
	104
	3.14

	Corekt
	(correct)         
	140  
	4.22

	Yastirday
	(yesterday)
	140  
	4.22

	Borrow
	(borrow)
	140  
	4.22

	Sometimes
	(sometimes)       
	176
	5.31

	Praktise
	(practise)        
	188
	5.67

	Idetor
	(editor)          
	188
	5.67

	Guist
	(guest)           
	224
	6.76

	dailugeu  
	(dialogue)        
	268
	8.08

	Interristing
	(interesting)
	692
	20.87

	
	(through)
	836
	25.21

	Total
	
	3316
	100.00%



In fact, the students were asked to choose or circle the words spelt wrong. But they selected the right words instead of the ones spelt incorrectly. This may be due to the fact that the English curriculum does not contain practical exercises or else the learners were not exposed sufficiently to the English spell​ing rules.


 In his study on Finnish and Swedish learners, Ringbom (1987) finds that the largest number of spelling errors is made by the Swedish. This may be ascribed to the techniques of foreign language teaching in Sweden which neglect the writing skill unlike in Finland.  He adds that if the teaching and learning situation neglects the oral skills and concentrates only on the written language, learners of English as a second or foreign language will be in great trouble, regardless of their mother tongues.  He further states that with reference to listening comprehension in English, the Swedish speaking students have fewer errors than their Finnish counterparts.  This is because the Swedish spelling system seems as irregular as that of English. On the basis of their study on spelling errors of foreign language learners Oller and Ziahoseiny (1970) concluded that the learners whose native language has a Roman writing system make more errors than those who use a non-Roman writing system. In other words, similarity between two languages makes the learners produce more spelling errors.  For example, the spelling errors that the learners committed can be ascribed to (i) intralingual factors, e.g. since spelt sence by speakers of Spanish, Swedish, Malay, Japanese, Russian, Hebrew and French; (ii) interlanguage factors, e.g. confort for comfort by speakers of Spanish, Italian and Portuguese, sens for since by speakers of French; and (iii) analo​gy, e.g. bearly for barely, and berely caused by the analogical influence of merely.

     
Thompson-Panso and Thomas-Ruzic (1983) express the view that the rules and exceptions of English spelling coupled with the Arabic writing rules and problems of its vowel system create peculiar difficulties for the Arab learners.  Ibrahim (1978) reports that the spelling errors of the freshmen at University of Jordan can be attributed to the following: (iv) The non-phonetic nature of English spelling or spelling the weak vowels represent​ed by schwa/ə:/ and short /i/ found in unstressed syllables of words, e.g. above, sorry, billy, beginner, husband; (v) Variations are there between the Arabic and the English sound systems, e.g. English /p/ is replaced  by /b/ in an Arab's English (for in​stance beoble for people). This occurs because Arabic does not distinguish between the two bilabial plosives; it has only the voiced /b/.  vi) Analogy or influence of other words also plays a role, e.g. maney (many) influenced by money, toled driven by regularity. vii) Inconsistent spelling of the derived words, e.g.  high/height, speak/speech. viii) Transitional errors caused by overgeneralization and learners' ignorance of English spelling rules, e.g. nin for nine, pilled for piled, completly for com​pletely, closeing for closing. 


Furthermore, Mohanty (1999) states that because of some significant phonological differences between Arabic and English, the Arab learners always find it difficult to learn English spelling, this is attributed to the differences between Arabic and English root structures. Like other Indo-European languages, English has stable roots, but Arabic roots have three consonants accompanied by different vowel infixes which create new words related to one semantic domain.  For example, from the root d-r-s, words like darson (a lesson), darasa (He studied), derasa (a study) can be derived.  Accordingly, it can be inferred that vowels have different functions in Arabic and in English. 

     
Since Arabic spelling system is quite different from that of English, learning English spelling will remain a difficult prob​lem for the Arab learners. For example, words like son and sun which are spelt differently but pronounced alike and put and but which are pronounced differently though spelt alike pose a big problem for the Arab learners of English.  In fact, they do not face this kind of difficulty in Arabic because most Arabic words are written as they are pronounced.  The other reason may be their indifference to learn the English vowels which has been termed vowel-blindness by Haynes (1984).


Thompson-panso and Thomas-Ruzic (1983) add another category of errors caused by the differences in orthographic representa​tion of common vowel sounds between English and Arabic. Many Arabic speakers use remarkably inconsistent vowels in written English. For example, they find a student who spells his name in three different ways, e.g. Muhamad, Mohamed, Mohamad. This means that these two languages do not match each other so far as these aspects are concerned. 


Modern Standard Arabic has a six-vowel system divided into three pairs, each of which has long and short counterparts.  They are represented here respectively, /aa/ and /a/, /ii/ and /i/ and /uu/ and /u/. The long vowels are always found in writing while the short ones are found only in children's books, the holy book Kuraan and special texts which are, for instance, prepared for foreigners. It is known that in Arabic complete words are spelt without vowels.  Therefore, Arab learners use the Arabic vowel system while writing English. When spoken English has eleven or more vowels, in writing these are only five letters, i.e.  a,e,i,o,u.  Consequently, these vowel differences in words like boot vs. bout, but vs. put, boat vs. bought, and so forth are diffi​cult for Arab learners to distinguish in listening, speaking, reading and writing (Thompson-Panso and Thomas-Ruzic 1983).

Furthermore, Tushyeh (1996) shows that 85% of the English words are spelt regularly. Most spelling rules of English are regular though there are exceptions. For example, there is a spelling rule that the letter i should come before the letter e in a word, e.g. belief, and when the letter e precedes, i is used after e as in receive. This spelling rule, however, has some exceptions, e.g. leisure, weird, seize.  Supporting Thompson-Panso and Thomas-Ruzic, Tushyeh (1996) reports that Arabic vowel system is completely different from that of English. The follow​ing Tables shows that the vowel system of English is more compli​cated than that of Arabic:
	Table 10: Arabic vowels desc.
	
	Table 11: English vowels desc.

	(Arabic Vowels)
	
	(English Vowels)

	  
	Front
	Central
	Back
	
	Front
	Central
	Back

	High
	Ii

 I
	
	uu

 u
	
	ii

 i
	
	u:

u

	Mid
	
	a
	
	
	 ε

 E
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ə
	o:

o

	Low
	
	aa
	
	
	ae
	
	A



Tushyeh adds that in Arabic there are only two diphthongs, aw and ay while in English there are many diphthongs, (Jonathan et al. 1996), e.g.  ei as in say, au as in go, au as in now, ai as in boy, ie as in near, ue as in pure. Arab learners of English always find it difficult to distinguish between rounded and unrounded vowels, between high and low vowels and between long and short vowels.  Due to these reasons some Arab learners mis​pronounce English words and it is reflected in their writing. For instance, they write Muslim, Moslem; Kuran, Koran. 

3.3. SENTENCE STRUCTURE TEST

     
We will discuss the sentence structure test in this section. 

3.3.1. INTRODUCTION

The sentence structure test was given to the students in order to estimate their knowledge of some English grammatical units, such as articles, prepositions, relative clauses, verbals, yes/no and wh-questions, negation, and compare the learners' achievement in the sentence structure test with that of the multiple-choice test which contains the English grammatical categories. When this test was administered, the students were asked to write their own sentences, but in the multiple-choice test, they were required to select the right word from the avail​able four choices to fill in the blanks.


The sentence structure test was repeated because it was expected that the multiple-choice test in which the learners might depend in selecting their answers on guess-work would not interpret their proficiency in the grammatical units mentioned above.  It was performed in order to have the learners' errors from their own corpus.
     
An analysis of the multiple-choice tests and sentence struc​ture tests shows that what the learners did in the former test fully correspond to what they did in the latter. This is con​firmed by the rank-order relationship (rho(p) 0.975%) and by the correlation coefficient (r) (0.957%) and other statistical meas​ures (see Tables 12 and 13). Also, another statistical factor is the test value which is 96 percent. In order to reject that test value we need at least a value of 1.83 (Hatch and Farhady 1982). Therefore, the null hypothesis at 0.05, level of significance cannot be rejected.  Then, it has to be assumed that the students got the same results in both the tests, or it can be said that there is no difference between the multiple choice and sentence structure results (see Table 13). In other words, there is no significant difference in their performance on the two tests.
	Table 12: Means and standard deviation description 

	
	Range
	Mean
	Standard 

Deviation

	Multiple choice tests
	43
	42.2
	9.6

	Sentence structure tests
	37
	37.8
	4.6


	Table 13: t-Test, p rho and Correlation coefficient 


	
	t-Test
	Rank order
relationship
(p)
	Correlation coefficient

(r)

	No significant differences

between multiple choice tests

and sentence structure tests   
	0.96
	0.975
	0.957


3.3.2. ARTICLES

With this grammatical unit in the sentence structure tests, the students were required to use the definite, indefinite and zero articles in their own sentences. Consequently the errors that they made in this area of grammar, sentence structure tests, are more than those found in the multiple-choice tests. 
	Table 14: Articles errors description

	Articles
	No. of frequent errors
	Percentage

	An
	301
	15.69

	A
	403
	21.01

	Ø 
	517
	26.96

	The
	697
	36.34

	Total
	1918
	100.00%



The errors in using articles which were committed by the students are presented in Table 14.  This Table shows the errors and their percentages that the learners produced in the sentence structure test.  With the definite article the, they produced 697 errors (36.34%); with the zero article (Ø) they committed 517 errors (26.96%); with the indefinite articles a, they made 403 errors (21.01%); and with the indefinite article an, they yielded 301 errors (15.69%). The total number of errors which the stu​dents committed in the sentence structure test (article section) are 1918, (8.59%) out of the 22352 errors which were made in other categories, i.e. prepositions, relative clauses, verbals, yes/no and wh-questions, and negation (see Table 20). The most repeated written errors that the students committed are taken from their responses. The following examples are illustrative:

102.
I go to learn in the school.

103.
We are bay the milk.

104.
The Englishmen like drink the coffee.

105.
The water is important for the life.

106.
I have the money.

107.
A milk is a useful for us. 

108.
It is only a water.

109.
I prefer drink a coffee. 

110.
He drinks an coffee/an milk.

111.
The school learn a children 

112.
Are they a students?

113.
I have an uniform. 

114.
He is eating a able. 

115.
My friend is an Ali.

116. 
My father bay some the books

117.
She is give my the book.

118.
He visited his an uncle.

119.
They had meet their an uncle.

120.
There is only one a school.

121.
School is an built. 


In respect of the definite the, the students made a lot of errors.  They were confused particularly with uncountable nouns. English uncountable nouns, of course, are not preceded by either the definite or the indefinite article while in Arabic such nouns are preceded by the definite article /al/ 'the'. Therefore, Arab learners get confused while using the definite and indefinite articles in English.

     
In the sentence structure tests, the students used the defi​nite article the, indefinite a (an) and the zero article (Ø) where they were not required and vice-versa. For instance, in sentence (102) they used the definite article instead of zero article before the word school. Also in sentences (103) through (106), they used the definite article the with the uncountable nouns, such as milk, coffee, water, money.  All these errors are at​tributed to Arabic interference. In sentences (107) to (109) they used the indefinite article a with non-count nouns, like milk, coffee, water.  They should have selected the zero article (Ø) instead of the indefinite a.  Again in sentence (107), they used the indefinite article a, instead of the zero article (Ø) before the adjectives useful and old. Such errors are attributed to intralingual interference. In sentence (110) they used the indef​inite article an instead of the zero article (Ø) with uncountable nouns coffee and milk even though these words do not start with vowels. In sentences (111) and (117), they used the indefinite article a before the plural nouns students, children.  The zero article should have been used before these plural nouns.  These two errors are ascribed to developmental interference. In sentence (113), the indefinite article an was used before the word uni​form. This was also repeated in sentence (114). Since the letter u is pronounced /yu/, an cannot be used before it. These errors are  attributed to intralingual interference.  In sentence (115) instead of the zero article, they used the indefinite article an before the proper noun Ali.  In addition, the definite article the was used after the determiner some and after the possessive pronoun as my the book, his an uncle and their an uncle in (116) and (117).  They might have used the definite article the instead of the indefinite article an in sentence (117), but they were influenced clearly by the vowel letter /u/ of uncle. The errors in sentences (116), (117), (118) and (119) can be attributed to Arabic interference because the word order is found in Arabic. For instance,
116.
My father bay some the books (students' sentence).

/abi ashtra baiadh  al-kutob/.


(My father brought (bought) some books).

117.
She is give my the book (students' sentence).


/heya a'atat  haKi al-ketab/.


She gives my book. 

     
In sentence (105) the determiner one is used with the indef​inite article a before the word school, e.g. one a school. So it can be argued that the learners do not know that 'one' and a are synonyms. Eventually, the indefinite an is used before the verb built, e.g. an built. The errors in sentences (120) and (121) are attributed to the target language interference. 


Katuza (1968) argues that diversity in the use and omission of articles with proper nouns creates a major problem to a foreign learner at every stage in learning English. Scott and Tucker (1974) maintain that Arabic treats nouns as indefinite or defi​nite by the absence or presence of the article respectively.  So errors of omission of the indefinite article in English are ascribed to the native language interference.


To summarize, most of the errors in using articles, such as omission and replacement are ascribed to two causes: a) the mother tongue interference, as in Arabic the uncountable nouns are always preceded by the definite article /al/, e.g. /al-haya/ 'life' and /al-ma'a/ 'water' as in sentence (105), the water is important for the life, and /al-kahwa/ 'coffee' as in sentence (106), (The English men like drink the coffee); and (b) the intralingual errors which are similar to those called  the devel​opmental errors (Richards' 1974).
3.3.3. PREPOSITIONS 


The prepositions which were used and emphasized in both the multiple-choice test and sentence structure test are time and place prepositions. They have been selected in these two tests because they are found especially in the curriculum of the ninth grade with exhaustive practical exercises besides being used con​tinuously. Table 15 below displays the errors in using preposi​tions that the learners committed in the sentence structure tests. 
	Table 15: Prepositions errors explanation

	Prepositions
	No. of errors
	Percentage

	Near
	219
	6.91

	Under
	309
	9.75

	behind  
	311
	9.81

	Next to
	397
	12.52

	In
	455
	14.35

	At
	507
	15.98

	On
	973
	30.68

	Total
	3171
	100.00%



Ghadessy (1974) remarks prepositions are difficult not only for foreign learners to learn, but also for the native speakers themselves.  Table 15 which presents the number of errors and their percentages tells us about the prepositions the informants mostly got confused with.  With the prepositions on, at, and in they produced 973 errors, i.e.  30.68%; 507 errors,  i.e. 15.98%; and 455 errors, i.e. 14.35% respectively. The total number of errors that the learners committed are 3171 or 14.19% out of the 22352 which belong to other grammatical categories found in the sentence structure tests (see Table 20). 


The following examples of the most frequent written errors have been analysed and described.  

122.
I get up in six o' clock                         

123.
My mother is in the home.                        

124.
I live at house.                                 

125.
I work on Sana'a. 

126.
I live on the house.

127.
The school above the street. 

128.
She puts this pen on the drawer.                 

129.
The books over the table.

130.
We live above the land.   

131.
The pencil over chair.                           

132.
The books above the table.  

133.
I write in top of page.                            

134.
They keep their books in the shelf.              

135.
I went to shopping.                              

136.
She go for school.                               

137.
She went at her home.                            

138.
She is from at home.                             

139.
You are on to of University.                     

140.
Ali near to me.                                  

141.
He walks front of us.                            

     
In sentences (122) and (123), the subjects used the inappro​priate preposition in instead of at. In sentences (124) to (128), the four prepositions at, in on and above were used incorrectly. These prepositions in, on, and above were used instead of the right prepositions in and on which fit the contexts of those sentences. The prepositions in, above, and over replaced the prepositions in and on in sentences (129) through (134).  All these errors can be ascribed to the mother tongue interference.  In sentences (135) and (136), to was used where it was not needed and for replaced the preposition to.  These two errors are again most probably due to the native lan​guage interference.  Then near to replaced next to and front of as well was used in the place of in front of in sentences    (140) and (141). The students did not succeed to select the cor​rect preposition in sentences (137) through (139). They used two or three prepositions to replace the correct one. These errors are attributed to the target language interference.


In sentences (137) through (141), all the errors committed by the learners are attributed to intralingual interference. The errors found in (122) through (134) may be ascribed to Arabic interference because Arabic has some prepositions like /fi/ 'in' and /ala/ 'on'. Therefore, Arab learners often get confused with the English prepositions which are so many, e.g. at, in, on, above, and over, each of which can be used two ways, e.g. at home/at six o'clock, on time/on the table.  In short, the similarity of some Arabic prepositions with some English prepositions prompts the Arab learners to commit all these errors. Shaheen (1984:312) states that the only source of such errors committed by the students at the university level is the mother tongue interference.  He adds that Arabic language has a small number of prepositions, for which the learners find it difficult to master the use of English prepositions which are more in number.  

3.3.4. RELATIVE CLAUSES 
	Table 16: Relative clauses errors explanation 

	Relative clauses
	No. of frequent errors
	Percentage

	Subject omission
	274
	4.38

	Repeated possessive Pronoun
	699
	11.16

	Repeated objects  
	1178
	18.81

	Repeated subjects
	1754
	28.01

	Relative pronouns substitution
	2357
	37.64



	Total
	6262

	100.00



In the area of grammar, relative clauses are more confusing for the Arab learners of English than the other categories.  Table 16 above exhibits the errors and their percentages which the learners committed in the sentence structure test (relative clauses section).  In the relative pronouns substitution, the informants produced 2357 errors, i.e. 37.64%. With reference to the repeated subjects, they committed 1754 errors, i.e. 28.01%, and repeated objects they produced 1178 errors, i.e.  18.81%. But with the repeated possessive pronouns they committed 699 errors, i.e. 11.61% and with subject omission, 274 errors, i.e.  4.38%.  The total number of errors resulting from the wrong use of the rela​tive pronouns is 6262, i.e. 28.01% out of the 22355 errors be​longing to other grammatical units, like articles, prepositions, verbals, yes/no questions and negation. Here are some examples of errors taken from the students' responses: 

142.
Taher teaches the boys whom/who/whose/which/when they 


are disabled.    

143.
I saw Ali's car who/whose/who/which it has a good colour.              

144.
David can't walk whom/whose/who/which/that his leg is 


broken. 

145.
The boy is her friend who/whom/which/whose she always 


speaks to him.   

146.
Taher teaches the boys who they are disabled.

147.
I saw Ali's car which it has a good colour.  

148. The boy  is her friend whom she speaks to him.

149.
David can't walk whose his leg is broken.                              

150.
The chair is new whose its colour is yellow.                           

151.
Taher teaches the boys are disabled.                                   

152.
I saw Ali's car has a good colour.                                     


In sentences (142), (143), (144) and (145) the students failed to select the right relative pronouns. The wrong use of relative pronouns in these sentences is probably due to the target language interference. In sentences (146) and (147), the learners failed to remove the subject pronouns in the embedded sentences which were connected by relative pronouns.  Also the object pronoun him was not deleted in sentence (148).  The errors in (146), (147) and (148) which the learners committed regularly are attributable to the native language interference.  The same problem was repeated in sentences (149) and (150). The students did not delete the possessive pronouns, his and its from these sentences that were connected by the relative pronoun whose. These errors are attributed to the influence of the Arabic language. In the last two sentences (151) and (152), the relative pronouns are not used.  The errors of these two sen​tences are also due to the mother tongue interference.  Scott and Tucker (1974) emphasize that clauses in which a relative pronoun is the object of a preposition are normally used by Arab learn​ers. Tushyeh (1996) agrees with Scott and  Tucker (1974) and says that with regard to the similarities which are found between Arabic and English particularly in the relative clauses, Arab learners produce errors such as the use of whom for who, who his for whose, and which for humans. 


All the errors which the learners committed in the relative clauses are mostly attributable to the Arabic language interfer​ence.  But the errors of substitution can be ascribed to the target language interference as well as to bad teaching tech​niques and methods.

3.3.5. VERBALS


The students were confused in the use of verbs. Verbal errors show that the students do not know how to use the verb form or the verb tense properly.  Table 17 below displays the errors committed in the sentence structure test (verbal section)  where the students were required to write two sentences using each tense (see Appendix B-2) which are divided into two types, i.e. verb form errors and verb tense errors. The verb form errors are 2732, i.e. 70.38% and verb tense errors are 1150, i.e.  29.62%. It means that the subjects produced more errors in the verb forms than those in the verb tense.  With the verbal catego​ry, they produced 3882, i.e.  17.32% out of the 22352 errors which were committed in all the grammatical units, like articles, prepositions, relative clauses, yes/no and wh-questions, and negation.  These are analysed below: 
	Table 17: Verb tense and verb form errors explanation 

	Grammatical  Units
	No. of frequent errors
	Percentage

	Verb tense
	1150
	29.62    

	Verb form
	2732
	70.38    

	Total
	3882
	100.00%


3.3.5.1. VERB FORM

153. Simple present  

a) She speak English.

         

  

b) She is write.






c) She is writed the lesson yesterday.

154. Present continuous 
a) She is played football.   



           

b) She playing the football.





c) She is gone to school.   

155. Simple Past

a) I am saw you.




          
  


b) She was saw a bird.      





c) She taked my pen.        

156. Past continuous  

a) I was bring.




            
  

b) She was bought pen.







c) They were brong (bringing) table.

157. Past Perfect

a) I had rad (read).    





b) He was red (read).





c) He was studied.


158. Simple Future    

a) She is have.








b) I will be have.







c) I will to have.




159. Future Continuous     
a) I will be done my home work.

         

  

b) I will be do my home work.

                 


c) He will been doing homework



3.3.5.2. VERB TENSE

160. Simple present   

a) I spoked English.

         

  

b) I wrote English.




c) I was played
161. Present continuous
a) I am going to play.

        
             

b) I go to school.





c) We were playing.

162. Simple Past

a) I see you.

          
      


b) She has take him.





c) They have seen yesterday.

163. Past continuous  

a) I bought a car.

            
  

b) She is bring.





c) She has bring. 

164. Past Perfect

a) He studied English.




     
b) I study English 



 

   since 6 years.




     
c) They will have studied.

165. Simple Future    

a) I have go to my friend.




  
b) They have to play.




  
c) I had going to.

166. Future Continuous      
a) He is done homework.

        



b) I will do homework.





c) I was doing home work.


In the simple present tense, the students failed to write sentences correctly. They sometimes did not add the third person singular marker-s to the verb and sometimes they wrote the sen​tence in a form which is neither a past tense nor a present continuous tense.  This is attributable to the target language interference. In addition, although they were required to write sentences, in the simple present tense, they wrote them in the simple past tense as shown in (160).  They, in fact, over generalized the regular verb rules to the irregular verbs as in (160) (a), i.e. I spoked.  The learners could not use the present continuous tense correctly.  They actually used the   verb to be and the past participle of play and go in the present continuous in (154), (a) and (c).  They also used only the present participle as in (154) (b).  They were also required to write sentences in the present continuous, but they did so in other tenses. Instead of the present continuous, they wrote sentences in the future, simple present,  and past continuous tenses in (161) (a), (b) and (c) respectively.

     
With the simple past tense, the students failed to write the right answers. Instead, they used am/was followed by the past form of the verb to see and the wrong past form of the verb to take as in (155) (a), (b) and (c).  They also overgeneralized the regular verb rules to irregular verbs as in (155) (c).    Shifting from the simple past to other tenses is also noticed. They wrote sentences in different tenses, as in (162) (a), (b) and (c).  While using the past continuous tense, the subjects could not apply the proper rules. They used was and were,     with the past participle of the verb buy and the wrong verbs as in (163) (a), (b) and (c). They wrote the sentences (164) (a), (b) and (c) in the simple past, present continuous or simple present, and probably in the present perfect tense respectively.

     
With reference to (157), the learners used only one sentence in the perfect tense like sentence (a), but they were confused with the irregular verbs rad, red, for read in sentences (a) and (b). In (164), instead of the past perfect they used in various other tenses. They wrote sentences (a), (b) and (c) in the simple past, simple present and future perfect tense instead of the required past perfect tense. 


Furthermore, with the simple and future continuous tenses, they repeated the same errors as they did previously changing from one tense to another. Table 18 summarizes the errors found in (153) to (166) and presents the statistics: 

	Table 18: Tense errors explanation 

	Tense
	No. of tenses changed
	Percentage

	Simple present
	69
	6.00

	Present continuous
	107
	9.30

	Simple past
	151
	13.13

	Simple Future
	165
	14.35

	Past perfect
	192
	16.70

	Past continuous
	192
	16.70

	Future continuous
	2743
	23.82

	Total
	1150

	100.00%


     
The tenses which were subjected to more changes than others are the future continuous, past perfect, past continuous and simple past. That means most of the errors in the verbal category take place around these tenses.


However, regarding the developmental errors White (1971) says that most errors committed by the subjects are related to the tenses, interlingual errors were very few and developmental ones were many. The two major sources of errors that Duskova (1969) discovered in her study are negative transfer and target language interference. Schachter (1974) claims that many errors do not come from the native language interference, but they result from the strategies used by the learners and as well from the mutual interference of items within the target language. 


To conclude, the above-mentioned errors are attributable to two sources: a) English has too many tenses which have different structures and these are difficult for the foreign learners to master, and b) Arabic has only two aspects, the perfective and the imperfective.  That English tenses are confusing to Arab learners is confirmed by Tushyeh (1996). 
3.3.6. INTERROGATIVES


The Arab learners of English often get confused in making yes/no questions and particularly wh-question. The reason is that the English interrogative structure is quite different from that of Arabic.  Therefore, they make a lot of errors in the use of interrogatives. Table 19 below will make the point clear. 
	Table 19: Interrogatives errors explanation  

	Interrogative Items 

	No. of frequent errors
	Percentage

	Wh-questions           Verb tense
	757
	13.34

	Wh-questions           Verb form
	1086
	19.14

	Yes/no questions:     Verb tense
	1086
	19.14

	Yes/no questions:     Verb form 
	1181
	20.81

	Misuse of Wh-words
	
	1565
	27.57

	Total
	
	5675
	100.00%


    
The errors in the use of interrogatives and their percentages are presented in Table 19.  With yes/no questions, they produced 1181 errors, i.e. 20.81% in the verb form and 1086 errors, i.e. 19.14% in the verb tense.  With wh-questions, they made 1086 errors, i.e. 19.14% in the verb form and 757 errors, i.e. 13.34% of verb tense. In addition, 1565 errors, i.e. 27.57% were a result of the misuse of wh-words. In general with all the inter​rogatives the informants committed 5675 errors or 25.39% out of 22355 errors made in all the other grammatical categories of the sentence structure test (see Table 20).  Examples of the repeated errors found in the grammatical category of interrogatives are given below (see Appendix B-2):

3.3.6.1. YES/NO QUESTIONS

167.
Are they work hard?                     

168.
Did she very active?                                    

169.
Does they work hard?                                    

170.
Had Abdu write stories?                                 

171.
Are they playing?                                        

172.
Did students are doing their exercises? 

173.
Do they were playing?                                   

174.
Do we travelled?                                        

175.
Is she has finished?                                    

176.
Did they work?                                           

177.
Will is Ali visit us tomorrow?         

178.
Are they can learn it quickly?               

179.
Did they were playing?                       

180.
Do they can learn it quickly                            

181.
Did Abdu had written stories?                           


In the yes/no questions, the students could not use the right operators which agree with the tenses of verbs in the above sentences. The operators selected are wrong in sentences, (167), (168), (169) and (171). Though the operator in question (170) is correct, the past participle of the verb write has not been used. 


With the verb tense, the learners failed to use the appro​priate operators which should have made (172), (173), (174), (175) and (176) meaningful. They used the Are, Did, Does, Do, Is in sentences, (167), (168), (169), (171), (172), (173), (174) and (175) instead of Do, Was, Were, Are, Did, Has. In addition, they used redundant operators like be in (175) and (178) and do in (179), (180) and (181). 

3.3.6.2. WH-QUESTIONS


Some of the repeated errors found in wh-questions are pre​sented below (see Appendix B-2):

Word order          

182.
When you should work? 

183.
When Jill was sleeping?                     

184.
What Hassan can climb that tree?            

185.
What was sleeping? 

Misuse of wh-words

186.
What is will meet them at night?            

187.
Who he will meet them at night?              

188.
Where are gone out?                         

Verb form               

189.
Where have he been? 

190.
How were Yemen got unified?                 

191.
Where is it usually rains?                   

192.
Who will meeting them at night?             

Verb Tense

193.
Where is Ali and Hassan gone? 

194.
What is sleeping?                            

195.
Who is meet them at night?                  

196.
How is Yemen got unified?                   

Redundancy of the verb BE

197.
What are you should work? 

198.
How is visits she?                          

199.
What is can Hassan climb?                   

200.
Who is visits her cousins?                  


In respect of the above wh-question errors the learners did not follow the subject-verb inversion rule while making ques​tions.  This appears clearly in question, (182), (183) and (184). The word order of these questions can be attributed to Arabic interference. Misuse of wh-words is also noticeable in questions (185), (186), (187) and (188).  In addition the wrong verb forms and the wrong verb tenses are clearly found in (190) through (196). The informants failed to write the appropriate operators. They used have for has in (189), were for was in (190), is for does in (191), is for have in (193), is for was in (194), is for will, in (195), and is for was in (196). Only in question (192), they used the right operator; but they could not write the correct verb form after it. Instead, they wrote the present participle meeting after the operator. Finally, different forms of verb be were used in (197), (198), (199) and (200).  Such errors can be treated as developmental errors. 


It has already been mentioned that Arabic has only two aspects, i.e. perfective and imperfective while English has too many tenses which confuse the Arab learners (Tushyeh 1996).  The English tense system is particularly difficult for Arabic speak​ers since Arabic has only two aspects which just correspond to English perfective and imperfective (Sunderman 1978). According​ly, since English has too many tenses and yes/no wh-questions depend on these tenses, Arab learners like other foreign learners of English, experience difficulty in producing both yes/no and wh​-questions.  On the contrary, making yes/no and wh-questions is easy in Arabic.  To make a yes/no question in Arabic, one has to place the particle /hal/, which has no equivalent in English, at the beginning of a sentence. For instance, compare the following sentences in English and Arabic:

a) 
This is a book. b)Is this a book? 

  
haða ketab.      hal haða ketab?  

Making wh-questions is also simple in Arabic. The question words /ma/ what and /mann/ who  are placed at the beginning of sentences. For example:  

It is a book.                                   Is it a book?

c) 
This is a book.  
e)
Is this a book?

  
haða   ketab            

ma? haða?

d)
This is Ali.       
f)
Who is this?

  
haða ali              

mann haða?  


As a result of this easiness of making yes/no and wh-​questions in Arabic the students most probably did not master the English tense rules and their application.

3.3.7. NEGATION
     The use of negation is another grammatical problem which the Arab learners often face while learning English because Arabic negation is much easier than that in English. Table 20 along with the examples of errors taken from the students' responses will de​scribe the intensity of the problem clearly.
	

Table 20: Various grammatical units errors explanation 

	Grammatical  Item Type 


	No. of frequent errors
	Percentage

	Articles
	1918
	8.58

	Prepositions 
	3171
	14.19

	Relative clauses
	6262
	28.02

	interrogatives
	5675
	25.39

	Negatives 
	1444
	6.46

	Verbal Errors
	3882
	17.36

	Total
	22352

	100.00%



Table 20 summarizes all the errors and their percent​ages which the informants committed in the sentence structure test.  The article errors are 1918, i.e. 8.58%, the preposition errors are 3171, i.e. 14.19%, the relative clauses errors are 6262, i.e. 28.01%, the verbal errors are 3882, i.e. 17.37%, the interrogative errors are 5675, i.e. 25.39%, and the negation errors are 1444, i.e. 6.46%. The total number of errors that the students committed in all the grammatical categories in the sentence structure test is 22355. The following are some examples that show the errors in using the negative in English (see Appen​dix B-2):

201.
She found the necklace in not the street.                  

202.
We visited not the European countries.                    

203.
Hassan work not all day.                                   

204.
We visited did not.                           

205.
The nurse no can speak German.                             

206.
We not visited/visit.                        

207.
Salwa and Amna not were cooking.                           

208.
She is not/does not/did not/cannot/will not found.

209.
Hassan is not/do not/does not works all day.               


It may be noted that the subjects failed to negate the sentences (201) through (209) correctly, after learning English for six years. In (201) they placed the particle not before the last NP of the sentence. This type of negation nearly corre​sponds to stage one of Cook (1969) who states that the particular negative appears at the beginning or at the end of a sentence, e.g. (i) No singing son. and (ii) wear mitton no.  In (202), (203), and (204), they placed the negative particle immediately after the main verbs. This kind of negation cannot be assigned to the stages discussed by Cook (1969) and Milon (1974) who state that stage I negation is inconsistent, and it is used either at the beginning or at the end of the sentence.  Stage II negation is found within the utterances. Stage III negation is not describa​ble by either stage one rule or stage- two rule. They can be assigned to Ravem's (1974) Norwegain negative rule which is as follows: 


N + V + (N) + Neg, e.g.

Horn arbieder ikk (He work not) (Richards 1974:112)

Sentences (205), (206) and (207) correspond to Milon's (1974) stage I that states that learners start using the nega​tive particle no by placing it between the subject and the   verb. However, our students used the negative particle not instead of no in sentences (206) and (207). In (208), they used the negative particle not coupled with different operators to negate the simple past tense form found. Only one of those, i.e. did not was right and others were wrong as they failed to change the past tense form into the present tense form, e.g. (iii)She did not found. The same was repeated in sentence (209). The informants used many operators with the particle not out of which just one, i.e. (iv) does not was correct. But they could not use the verb in its correct form and as a result, we get a sentence like (v) Hassan does not works all days.


All the errors made in the negation category are attributable to intralingual interference. Overgeneralization is a process that occurs when the second language learner performs with reference to certain rules of the target language (Tayler 1975:393).  The second language learners often overgeneralize within the target language. Richards (1974) says that overgener​alization is an effect of particular learning strategies which appear to be employed universally when a learner is exposed to second language data. Therefore, many identical errors are found when the learners use a second language despite the differences in their language backgrounds.


To sum up, the errors committed by the students in the negation category can be ascribed to their inadequate knowledge of the English tenses and their applications.

3.4. WRITING TEST


The written test will be described in this section. 

3.4.1. INTRODUCTION

The writing test evaluates some of the students' abilities more effectively than the objective test does (Harris 1983). Errors result from the students' imperfect speech and writing (Dulay et al. 1982). In free writing the students cannot avoid errors (Raimes 1983).  Therefore, free writing was given to the same students who had taken the multiple-choice and sentence structure tests earlier in order to determine if the errors found in the two previous tests would be repeated or not.  In the free writing test, only four grammatical units, i.e. articles, prepo​sitions, relative clauses and verbals were considered. Table 21 presents the numbers and percentages of these errors: 

	Table 21: Various grammatical units description  

	Grammatical  Item Type 


	No. of frequent errors
	Percentage

	Relative Clauses
	714
	14.31

	Prepositions
	918
	18.40

	Articles
	1096
	21.97

	Verbals
	2261
	45.37

	Total
	4989

	100.00%


3.4.2. ARTICLES
     The errors in using articles which the students committed in the free composition test are somewhat different from those found in the multiple-choice tests and sentence structure tests.  They are actually centred on these three factors, i.e. omission, substitution and redundancy. 

	Table 22: Articles substitution, redundancy and omission description  

	Grammatical  Item Type 
	No. of frequent errors
	Percentage

	Substitution of Articles
	137
	12.50

	Redundancy of Articles
	466
	42.52

	Omission of articles
	493
	44.98

	Total
	1096
	100.00%


     
As per Table 22 the subjects committed 493 errors of article omission, i.e. 44.98%, 466 errors of article redundancy, i.e.  44.52%, and 137 errors of article substitution, i.e.  12.50%.  Totally, they committed 1096 errors in the use of articles out of 4989 in total which include prepositions, relative clauses and verbals. Here are some examples taken from the learners' respons​es: 

210.
My village has small school.

211.
I live in Sana'a since I was child.

212.
Dhamar city is middle of Yemen.                               

213.
People in village very kind.                                  

214.
Dhamar city is in Republic of Yemen.                          

215.
The life in village too beautiful.                             

216.
In village you do not want bay a milk.                         

217.
They are a beautiful flowers.                                 

218.
The weather in Sana'a is a nice.                              

219. 
In my village you can buy the fruits and the another things. 

220. 
Sana'a is more important than the other cities in the Yemen.  

221.
There is two the schools in my village.                      


The errors in the use of articles can be classified into three types, viz. article redundancy, article substitution, and article omission. With regard to article omission, in sentences (210) and (211) the students fail to use the right article. It is obligatory for them to use the indefinite article a with the phrases small school and very large village, but they leave them without the required article. In sentences (212), (213), and (214) they use the zero article when the definite article the has to be attached to the phrases middle of Yemen, village, and Republic of Yemen. 


In article substitution, the learners use the definite and indefinite articles in positions where they are not required. Sentences (215) and (216) show the use of the definite article the and indefinite article a with the words life and milk respec​tively.  In sentences (217) and (221) the learners use the indef​inite a and the definite the with countable nouns instead of the zero article.  Again, in sentence (219) they use the indefinite article a before the word nice instead of the zero article. 


In connection with article redundancy, sentence (220) shows that the definite article the has been used with the proper noun, Yemen whereas the zero article should have been used here. In sentence (221) the definite article is used between the determin​er two and the noun schools. Instead, they should have used the zero article in such a situation. 


The errors which are found in sentences (210), (211), (219),  (220) are attributable to the native language interference because most proper nouns in Arabic take the defi​nite article, e.g. al-yemen (Yemen), al-Kuwait (Kuwait), al​emarat (Emirates),  al-Kahera (Cairo),  al-hind (India). But the errors in sentences (216), (217), (218), (221) can be ascribed to the target language interference. Scott and Tucker (1974) say that almost half of the errors with the article system can be ascribed to the native language interference.  Other errors are caused by the use of the indefinite article where the definite article is demanded and vice-versa.  The substitution of one for a, the confusion between an and a, and the redundant application of an with a genitive NP.  Scott and Tucker add that the errors of omission of the indefinite article in English are ascribed to the native language interference.  

3.4.3. PREPOSITIONS

The prepositions which the students used in the free compo​sition are fewer than those which were used in both the multiple-choice and sentence structure tests.  Table 23 shows what kind of prepositions was used.

	Table 23: Prepositions substitution, redundancy and omission desc. 

	Grammatical  Item Type 
	No. of frequent errors
	Percentage

	Substitution of  Preposition
	178
	19.39

	Redundancy of  Preposition
	274
	29.85

	Omission of  Preposition
	466
	50.76

	Total
	918
	100.00%



Table 23 exhibits the errors found in the written test dealing with prepositions, i.e. their numbers and percent​ages. These errors are divided into three kinds, the preposition omission, preposition redundancy and preposition substitution. The subjects committed 466 errors (i.e. 50.76%) of preposition omission, 274 errors (i.e. 29.85%) of preposition substitution and 178 errors (i.e. 19.39%) of preposition redundancy. The number of errors committed in the area of prepositions is 918,  i.e. 18.40% out of 4989 in total that cover the articles, rela​tive clauses, and verbals. Some of the repeated errors noticed in the students' writing are presented in the following sentences.

222.
You can go Hadda.                                

223.
He lives next my house.                          

224.
Dhamar city is south of Sana'a.                  

225.
I like see the hight mountains.                  

226.
I try satisfied people.                          

227.
He lived at Aden city.                           

228.
Hadramont province famous with honey and dates.  

229.
In the holiday I see my family.                  

230.
I wonder for it.                                 

231.
He must not be hesitated for his friend.         

232.
Dhamar city is near to Rada'a.                    

233.
it has many of schools.                          

234.
They came into Yemen.                            

235.
Nothing can separate between us.                 

236.
My village contain of about 40 house.     
     
These examples clearly show that the subjects are completely confused in using the prepositions. They drop a preposition where it is needed, place it where it is not needed, and use two or three prepositions where only one is required as in sentences (222) and (236).  They omit prepositions in (222) through (226).  They fail to use to in sentences (222) and (223). In sentence (224), they leave out the preposition in. In sentences (225) and (226) the preposition to before see and satisfied is not used. The infinitive form is acceptable in (225), but it is not accept​able in (226) because it has the past tense form, i.e. satisfied. 


Again, the prepositions which are not required are replaced by the required ones.  It has been called preposition substitu​tion. In sentence (227), the preposition at is used instead of in.  The prepositions with and on are used instead of for and on in (228) and (229). The preposition for is replaced the preposi​tions about and towards as in sentences (230) and (231).


Regarding the preposition redundancy, to, of and in are added to the prepositions near in (232), the quantifier many  comes before the preposition of as in sentence (233) and in comes before to as in sentence (234).  The prepositions between, of and about as in sentence (233) are used where they are not needed in sentences (235) and (236). 


Some errors mentioned above are ascribed to the mother tongue interference because the prepositions at 'in' and on have equivalents in Arabic /ala/ 'on' and /fi/ 'in, at'. Therefore, the learners have difficulty in using these prepositions. Other errors are attributable to intralingual interference. Scott and Tucker (1974) say that preposition errors of Arab learners can be classified into three groups: (i) the English language interfer​ence, (ii) Arabic interference, and (iii) a small set of ambiguous errors. In other words, the preposition errors usually committed by the Arab learners of English are attributable to their native language, the overgeneralisation which is found among the English structures and some other errors are difficult to be identified.
3.4.4. RELATIVE CLAUSES

Relative clause is another grammatical unit which normally creates problems for the Arab learners. Their errors are always found in the omission, substitution, and repetition of this item.  The following Table will make the point clear. 

	Table 24: Relative clauses errors explanation 

	Grammatical  Items 
	No. of errors
	Percentage

	Repeated subject pronoun
	110
	15.40

	Relative pronoun substitution
	151
	21.15

	Repeated object pronoun   
	165
	23.11

	Relative pronoun omission
	288
	40.34

	Total
	714

	100.00%


     
Table 24 presents the errors made in the written test in the area of relative clauses, their numbers and percentages. These errors can be categorised into four kinds, relative pronoun omission, repeated subject relative pronoun, repeated object relative pronoun, and relative pronoun substitution. The inform​ants made 288 errors, i.e. 40.34%, with reference to relative pronoun omission, 165 errors, i.e. 23.11%, with reference to repeated object pronoun, 151 errors, i.e. 21.15%, with reference to relative pronoun substitution, 110 errors, i.e. 15.40%. Thus, they committed 714 errors, i.e. 14.31%, out of 4989 made in total including the use of articles, prepositions, and verbals. The following are some examples: 

237.
There is a proverb says.
238.
My friend his name is Ali live in Thamar city.                  

239.
I found a girl is look alike me.                               

240.
We are humans have good and bad things.
241. 
My friend who/whom/which/he live near to my house is a nice.    

242.
You live in the house which who (m) it is look new.             

243.
There is a forest who it contain a lot of animals.             

244.
All these things whose/which/who you can find it.

245.
She provide me with her advices which I never can put them.     

246.
My friend which/who/whom can depend upon him.
     The relative pronouns which are not used are which in (237), whose in (238), and who in (239) and (240). These errors of relative pronoun omission are attributable to the native language interference because in Arabic the indefinite NP does not take a relative pronoun as in sentence (239).

In addition, the repeated subject relative pronouns, he, it and relative pronouns stand together in sentences (241), (242) and (243). This occurs because of the mother tongue interference. The same is repeated with the object relative pronouns in sen​tences (244), (245) and (246). The object relative pronouns which are repeated are it, them and him respectively.  These errors are ascribed to the native language interference because in Arabic the subject pronouns, i.e. it, he, she, they, keep their posi​tions directly after the subject relative clauses while the object pronouns, i.e. it, him, her, them keep their positions at the end of the Arabic verbs: For instance, 

(i)X    
Here is the person whom you would like to meet him. 

  
 /hu:na/ al-shakhs/allathe/inta/tu:heb/antu:kabelhu/.

(ii)X
Here is the man who he is responsible of this damange.

  
/hu:na/ alru:gal/allthe/howa/masu:L/an/hatha/alkharab/.


Besides, relative pronoun substitution represents a big problem for Arab learners of English. Their wrong use of these relative pronouns is obvious in sentences (241) through (246). Sunderman (1978) argues that since there are similarities between the Arabic and English relative clauses, these are difficult for the Arab learners who commit many errors in this area. However it is clear that the errors are confined to the subject and object positions.  

3.4.5. VERBALS

Verbals seem to be very difficult for the Arabic speaking students to deal with.  They often get confused in using either the verb form or the tense form. Table 25 below will give a clear picture about this grammatical unit. 
	Table 25: Verb tense and verb form errors explanation 

	Grammatical  Items
	No. of frequent errors
	Percentage

	Verb tense
	685
	30.30

	Verb form
	1576

	69.70

	Total
	2261

	100.00%



The errors in Table 25 indicate the learners' achievement level in the use of English verbs. It is significant to note that the students have committed more errors in the verbal category than in any other category not only in the written test but also in other tests, like the multiple-choice test and sentence struc​ture test.  Again they committed more errors particularly in the verb form, i.e. 1576 errors or 69.70% than in the verb tense i.e. 685 errors, or 30.30%.  In all, they committed 2261 errors, which is 45.30% in the verbs out of the total 4989 errors yielded in the use of articles, prepositions, relative clauses. The following are some of the most repeated errors taken from the subjects' responses which are divided into two groups, i.e. verb form errors and verb tense errors.

3.4.5.1. VERB FORM ERRORS
   2.4.5.2.VERB TENSE ERRORS

247. Love innate from my god

254. I visit Hamed last week.

248. The people is  farm.


255. She is born in 1979.

249. I am been in amaze.


256. Sana'a city now became






        biggest and largest.

250. They looks happy.


257. I live in Sana'a since I 







        was child.

251. Tourism do not come to my

258.Dhamar city was in

        village


          

       middle of Yemen.

252. There were no water supply.

259. My friend was believed 







       me.

253. I hope to go to my village


260.If you found real friend,

        to can to rest.

          

      you get every thing.


With reference to the verb form errors, it can be seen that the verb to be is not used in sentence (247). This error is attribut​able to the mother tongue interference. All the verb forms, viz. is, am, been, looks, do not come, were and to can to rest are completely incorrect in sentences (248) through (253).  They should have used are instead of is in sentence (248), am instead of am been in sentence (249), look instead of looks in sentence (250), does not come instead of do not come in sentence (251) to have a rest instead of to can to rest in sentence (253) and was instead of were in sentence (252). All these errors committed by the learners are ascribed to the target language interference because Arabic does not have the verb to be, e.g. the structure of sentence (247) is correct in Arabic, but not in English.


Regarding the verb tense errors, since the adverb of time last week is there in sentence (254), the verb should have been in the simple past, but it is in the simple present.  Sentence (255) should also have been in the simple past and the verb is should have been changed into was.  Again, notice that the adverb now is there in sentence (256) and the verb is in the simple past. It means that either the learners have ignored the adverb now or they do not know the function of this adverb which demands that the verb has to be becomes.  In sentence (257) the verb live does not go along with adverb since. The subjects should have used the present perfect tense instead of the present simple tense. In sentence (258), the simple past tense of the verb form was should have been changed into the simple present tense form is.  But the simple past tense was should be dropped in sentence (259). The conditional sentence (260) is wrong be​cause of the sequencing of the tenses. The verb in the if-clause should have been in the simple present like find and that in the main clause should have been changed into the future tense i.e. will get. 


From the errors mentioned above it is clear that the stud​ents are confused with the English verbs in the written test.  They also do not seem to know the functions of adverbs of time. They often change the tenses, from the present to the past and vice versa and from the present to the future and vice versa (see Table 18).  Since Arabic has only two aspects (perfective and imperfective) and English has so many tenses, these often create a big problem for the Arab learners (Thompson-Panso and Thomas-Ruzic 1983).
2.4.6. VOCABULARY AND SPELLING (ORTHOGRAPHY) 


The vocabulary and spelling create a big problem for the Arab learners because the phonetic spelling system of English is completely different from that of Arabic. These can be considered a big obstacle for the Arab learners of English.  Therefore, they frequently commit many errors in the use of these two grammat​ical units. Table 26 below is illustrative: 
	

Table 26: Various grammatical units errors descriptions

	Grammatical  Items
	No. of frequent errors
	Percentage

	Relative clauses
	714
	4.78

	Prepositions
	918
	6.15

	Articles
	1096
	7.34

	Verbals
	2261
	15.14

	Vocabulary
	3863
	25.87

	Spelling
	6080
	40.72

	Total
	14932

	100.00%


     
All the errors committed by the subjects in the written test are summarized in Table 26. It is to be noted here that the students have committed more errors in vocabulary and spelling (orthography) than in any other category, i.e. articles, preposi​tions, relative clauses and verbals.  The verbals take the third position after vocabulary and spelling. The errors in vocabulary, spelling and verbals are 3863 (25.87%), 6079 (40.72%) and 2261 (15.14%) respectively out of 14932 errors in total. 


The words and phrases used in the written test by the stud​ents mostly do not fit the contexts of the sentences. This hap​pens because the learners do not know the meaning or spelling of many words and as a result, they use other words in order to be on the safe side. Thompson-Panso and Thomas-Ruzic (1983) who utilize Beck's (1979) study on Arab learners that word form errors are approximately 50% of the total errors committed by the students. As Arabic and English have different distribu​tions of nouns, verbs and adjectives, errors in the word use are often related to meaning and different distributions rather than to different constructions. They add that the rules and excep​tions of English spelling, Arabic writing and its vowel system create peculiar difficulties for the Arab learners. Spelling errors are attributed to (a) non-phonetic nature of English spelling, (b) differences between Arabic and English sound systems, (c) analogical creations, (d) inconsistent spelling in English word derivation, and (e) transition. Here are some exam​ples of errors taken from the students' written test, in both spelling and vocabulary. 

3.4.6.1. VOCABULARY EXAMPLES

261.
The earth in village is green. 

262.
I like see the hight mountains.

263.
My village has a wonderful venses.

264.
We have three smalls ones.

265.
People are very kindly in my village.

266.
My city is Dhamar in the Yemen.
267.
People are very kindness.

268.
They have not got many (money). 

3.4.6.2. SPELLING EXAMPLES
Wrong

      Right
       Wrong               Right
	aducation
	(education)
	farmases
	(farms)

	aspecally
	(especially)
	filed
	(field)

	astudy
	(study)
	firday
	(Friday)

	beautiful
	(beautiful)
	firned
	(friend)

	belived
	(believed)
	firsh
	(fresh)

	benifit
	(benefit)
	fraiday
	(Friday)

	biulding
	(building)
	fronit
	Fortnight 

	citys
	(cities)
	frute
	(fruit)

	cowd
	(could)
	futcher
	(future) 

	crouded
	(crowded)
	gavurner
	(governor)

	cuntry
	(country)
	gresses
	(grasses)

	dirction
	(direction)
	hilth
	(health)

	eatting
	(eating)
	hostrical
	(historical)

	eny
	(any)
	intersting
	(interesting)

	falige
	(village)
	meny
	(many)

	famlys
	(families)
	miusic
	(music)

	nace
	(nice)
	sitution
	(situation)

	planing
	(planning)
	smalls
	(small)

	polit
	(polite)
	To found
	(to find)

	popl
	(people)
	vaillage
	(village)

	poplition
	(population)
	veagetable
	(vegetable)

	prapeard
	(prepared)
	vegatible
	(vegetable)

	qoleg
	(college)
	viewses
	(views)

	realitionship
	(relationship)
	whit
	(wait)

	roods
	(roads)
	wich
	(which)

	semster
	(semester)
	wonederful
	(wonderful)


3.5.   TRANSLATION TEST


In this section we will deal with the translation test. 

3.5.1. INTRODUCTION

Translation is considered as a creative activity based on a near-native knowledge of the foreign language (Harris 1969). It apparently presents (a) the basic differences found between the student's production and reception, (b) errors identifying the disability of the learner in the foreign language, and (c) the student's mother tongue interference which can be got from this corpus (Duskova 1969). Consequently, a translation test was given to the same students in order to determine their errors and evaluate them.  In this test (see Appendix B-4), the same units analysed in the previous three tests (multiple-choice test, sentence structure test, and written test), i.e. articles, prepo​sitions, relative clauses, and verbals were analysed.  Let us now consider them one by one. 

3.5.2. ARTICLES 


The errors of articles committed in the translation test defined to three elements, omission, redundancy and substitution are presented, analysed and described clearly through the stu​dents' responses given below (see Table 27): 

	Table 27: Articles redundancy, omission and substitution errors desc.

	Grammatical  Items
	No. of frequent errors
	Percentage

	Redundancy of articles  
	411
	12.81

	Omission of articles
	617
	19.25

	Substitution of articles
	2178
	67.94

	Total
	3206

	100.00%



According to Table 27, the learners committed 2178 errors, (67.94%) in article substitution, 617 errors (19.25%) in article omission and 411 errors (12.81%) in article redundancy. Totally, they committed 3206 errors (37.15%) in articles out of 8629 errors which include other categories, like prepositions, rela​tive clauses and verbals.  Some such examples taken from the informants' responses are given below:
269.
Satellite is machine move around earth. 

270.
It take its energy from sun.

271.
It sends all informations to earth.  

272.
Earth devices receive that informations.

273.
They send it to aeroplanes in sky.

274.
A satellite measures the temperature and the air pressure.

275.
It predicts the rains, the winds and the storms. 

276.
They sent that information to the aeroplanes at sky and 


the ships on the seas. 

277.
Satellite discover places of the minerals, the oil and 


the water in the deserts.

278.
It work make the human happy.

279.
Satellite has with a devices.

280.
Satellite work on entertain a human.

281.
Satellite have a big machines
282.
The family sit down in the front of TV. 

     
Concerning the article omission, both the indefinite article a and definite the are not used in (269) through (273). These errors are due to the target language interference. In the arti​cle substitution, mostly the definite article the is used instead of the zero article (Ø) as in the sentences (274) and (275).  Only the indefinite article a and zero article (Ø) are used with satel​lite.  The errors which are related to the definite article the are attributable to Arabic interference.  Because in Arabic, the  words such as temperature, air pressure, rains, winds, storms, seas, minerals, oils, water and desserts are always preceded by the definite article. As for the article redundancy, the indefi​nite article a and the definite article the are used in positions where they are not needed and vice versa, in (279) through (282). These errors are ascribed to the target language interference. Kharma (1981) argues that the expected error that results from Arabic interference is the use of zero article (Ø) for a (an). But Arabic demands the definite article /al/ the even when the non​count and abstract nouns are used, e.g. /al-ma'a/ 'water' and /al-maot/ 'death'. Most errors are found in the use of proper and plural nouns. 

3.5.3. PREPOSITIONS

In the translation test, the learners were forced to use some prepositions because they were required only to translate what is there in the passage.  Therefore, the errors of preposi​tions are fewer than those which are found in the previous tests (see Table 28 below). 
	Table 28: prepositions redundancy and substitution errors desc.

	Grammatical  Items
	No. of frequent errors
	Percentage

	Redundancy of prepositions
	370

	27.29

	Substitution of preposition
	986
	72.71

	Total
	1356

	100.00%



The errors in using prepositions found in the translation test are shown in Table 28. These errors are divided into two types:  redundancy of prepositions and substitution of preposi​tions. The subjects made 986 errors (72.71%) in preposition substitution and 370 errors (27.29%) in preposition redundancy.  The total errors they committed are 1356 (15.72%) out of 8629. Here are some examples of errors taken from the learners' re​sponses (see Appendix B-4). 

283.
Satellite is discover the position which rich metals in underground. 

284.
Satellite is around through the earth.

285.
It predicts of/with/about/from the rains.

286.
Satellite discover the point which rich in within earth.

287.
TV show for us many thing alive.

288.
It is discover metals into the ground.

289.
it spend (send) it into all place.

290.
Satellite sent it into everywhere.

291.
They translate that information to language.

292.
They help people ready to probabilities.

293.
They send the information to the aeroplanes at sky and the ships on the seas.

294.
It is discover the water on the deserts. 

     
With respect to the preposition redundancy, two prepositions are used in a position where only one is required as in (283) through (286). Some prepositions are not required, as for as in (288). The errors found in (283) through (285) are caused by the target language interference. In preposition substitution, some prepositions are used to replace other prepositions, e.g. to replaces into in (291) and for in (292), into replaces to in (287) and (289) and under in (288), and at and on replace in in (293) and (294). The errors in using the prepositions, like at, in, on and into are ascribed to the mother tongue interference because Arabic has equivalent prepositions, /ala/ on and /fi/ in. Tushyeh (1996) says that the Arab students of English replace the Arabic prepositions which are equivalent to some English prepositions, e.g. afraid from instead of of and think in (somebody) instead of of, etc. 

3.5.4. RELATIVE CLAUSES


The errors in using relative clauses are of three types, i.e. omission, substitution and redundancy.  Table 29 below and the tokens taken from the students' responses will describe these errors properly. 
	Table 29: Relative clauses errors explanation


	Grammatical  Items
	No. of frequent errors
	Percentage

	Repetition of Relative pronoun (objective)
	164

	15.34

	Repetition of Relative pronoun (Subject)
	206
	19.27

	Substitution of Relative clauses
	288
	26.94

	Substitution of Relative clauses
	411
	38.45

	Total
	1069

	100.00%


     
The errors in the use of relative clauses in the translation test are presented in Table 29. These errors are classified into four types: a) subject relative pronoun repetition; b) relative pronoun substitution; c) subject relative pronoun repetition; and d) object relative pronoun repetition. In this test the students were required to translate a passage from Arabic to English. They were not free here as in a free composition. They committed 411 errors (38.45%) in the use of subject relative pronouns, 288 errors (26.94%) in the use of relative pronoun substitution, 206 errors (19.27%) in subject relative pronoun repetition and 164 errors (15.34%) in object relative pronoun repetition. Thus, they committed 1069 errors (12.39%) out of 8629 in total. Some errors taken from their responses are given below: 

295.
It discover a place has rich material.                             

296.
It is discover the point has rich metals.                          

297.
It is discover the points have patrol.                             

298.
It contain devices take its power from sun.                        

299.
A satellite is machine turn about earth.                           

300.
It has motors what take its energy from the sun.                   

301.
it is discover the position who full with metal.                   

302.
Satellite tells the places which petrol and water find.            

303.
Satellite has devices whom collect the energy from the sun.        

304.
It has many devices whom they take its power from sun.             

305.
They discover the places that they has metals.                      

306.
The satellite is machine which it go around the earth.              

307.
There are machines which they take energy it from the sun.         

308.
It determines places whom they collect the peterolium and 


the water.

309.
They listen to things which TV report them.                        

310.
It receive all this information which earth's devices 


take it.     

311.
They translate that information to language which we 


can know it.  


First, let us look at the subject relative pronoun omission.  The subject relative pronoun is not used in sentences (295) through (298). This kind of error is attributable to the native language interference.  So far as the relative pronoun substitu​tion is concerned, the wrong use of relative pronouns is found in (299) and (300). These errors are ascribed to the target language interference. Again, both the subject and object relative pro​nouns, like they, them, and it are incorrectly used in, e.g. (308) through (310).  These errors are definitely caused by the mother tongue interference. 

     
Seliger (1978) states the cause of developmental errors is believed to be found in the increased amounts of language input and feedback. Bhatia (1974) reports that the source of linguistic interference is not confined only to the mother tongue of the students. In most cases interference is caused by improper learning rather than interference from the first language. Tu​shyeh (1996) argues that because of the similarities between Arabic and English particularly in the relative clauses, Arab learners wrongly use the English relative pronouns. 

3.5.5. VERBALS


The errors of the verb form and the verb tense committed by the learners are many, especially in the verb form.  These errors match the errors the students committed in the previous tests. 

	Table 30: Verb tense and verb form errors explanation


	Grammatical  Items
	No. of frequent errors
	Percentage

	Verb tense
	493

	16.43

	Verb form
	2507

	83.57

	Total
	3000

	100.00%



Table 30 presents the errors found in the verb forms and verb tenses in the translation test.  The learners made 2507 errors (83.57%) in the verb forms and 493 errors (16.43%) in the verb tenses.  So these are 3000 (34.77%) out of the total of 8629 errors.  Some examples of the often committed errors are listed below: 

3.5.5.1. VERB FORMS

312.
It is equip by devices.

313.
It is go around the earth.

314.
we can to say.

315.
The moon (satellite) can to explore the wealth.

316.
It can measuring.

317.
They absorbs his energy from the sun.

318.
It is supplies with devices.

3.5.5.2. VERB TENSES

319.
When the raining will be fall.

320.
When it turning around earth.

321.
It found it sent that information

322.
While it was go round the earth.

323.
It know when the sky will rains. 


The verb form is wrong in all the sentences from (312) to (318). These errors are attributed to both the foreign language as well as the students' mother tongue interference because English language has many tenses while Arabic has only two as​pects. These differences create difficulty for the Arab learners of English. As a result, the verb tenses are definitely used incorrectly as in the sentences (319) through (323). Notice that the simple future tense and present participle are used with the when-clauses in (319), (320) and (323). 


Sunderman (1978) states Arab learners have some intra​lingual confusion. They often replace have for be and in certain cases use them together. For example: 


(i) He has is a thin short man. 

One of the most common errors they usually commit is the wrong form of the simple past tense particularly with the irregu​lar verbs, e.g. 


(ii) Ali write that story three months ago.  


Tushyeh (1996) maintains that the errors committed by Arab learners  are (a) omission of the verb to be, e.g. (iii) My father dead, (b) misuse of the verb form, e.g. (iv)They has new pens, and  (c) omission of third person singular present tense marker -s, e.g. (v) She speak English.

3.5.6. VOCABULARY/SPELLING


Since the English phonetic spelling system is quite differ​ent from that of Arabic, the vocabulary spelling difficulty will remain to daunt the Arab learners particularly for those who ignore these two areas of grammar. 

	Table 31: Various grammatical unit errors explanation 

	Grammatical  Items
	No. of frequent errors
	Percentage

	Relative clauses
	1067

	8.92

	Vocabulary
	1233
	10.31

	Prepositions
	1356
	11.34

	Spelling
	2096
	17.53

	Verbals
	3000
	25.09

	Articles
	3206
	26.81

	Total
	11958
	100.00%



Table 31 summarizes all kinds of errors committed by the subjects in the translation test with their numbers and percent​ages. All the errors are described here except the vocabulary and spelling errors.  The subjects committed 2096 errors (17.53%) in spelling and 1233 (10.31%) in vocabulary use. Combined together these make 3329 (28.84%) out of 11958 errors in total. 


The vocabulary errors are quite common with Arab learners. Tushyeh (1996) states such errors are attributable in par​ticular to the use of Arabic dictionary in which words are or​dered according to their roots. 


Regarding the spelling errors, Thompson-Panso and Thomas-Ruzic (1983) report that as per their experience in teaching English to Arab learners the spelling errors are caused by the differences in orthographic representations of common vowel sounds in English and Arabic. Many Arabic speakers use vowels in written English in a remarkably inconsistent way. For instance, they spell one name in three different ways, e.g. Muhamad, Mohamed, Mohammad. The following are some vocabulary and spelling errors taken from the students' responses. 

3.5.6.1. VOCABULARY ERRORS

324.
Places which collect oil.

325.
Translate it to the language understanding.

326. Satellite sent it to all place.

327.
Satellite entertain peoples.

328.
Satellite has many usefuls.

329.
Satellite have machine take his energy from the Sun.

330.
When he (satellite) go around the earth.

331.
They take an information.

332.
Satellite gives as many enjoyment.

333.
They is very interesting.

3.5.6.2.   SPELLING ERRORS
Wrong               Wright              Wrong             Wright
	Adevices
	(advices)
	Peitrol
	(petrol)

	Airplains
	(airplane)
	perhapses
	(perhaps)

	Amatch
	(match)
	Plans
	(planes)

	Artificial
	(artificial)
	Pleaces
	(pleases)

	Bay
	(buy)
	Pressure
	(pressure)

	Circale
	(circle)
	quientity
	(quantity)

	Definite
	(definite)
	Rech
	(rich)

	Defind
	(defend)
	Relive
	(relieve)

	Desserts
	(deserts)
	Rining
	(raining)

	Desurts
	(deserts)
	Satalite
	(satellite)

	Discraib
	(describe)
	Satlaite
	(satellite)

	Divices
	(devices)
	Satlight
	(satellite)

	Engine
	(engine)
	satlite
	(satellite)

	Erath
	(earth)
	seaes
	(seas)

	Funy
	(funny)
	seatlites
	(satellite)

	Gether
	(gather)
	son
	(sun)

	Human
	(human)
	stalite
	(satellite)

	Industricmon
	(satellite)
	suplyed
	(supplied)

	Informations
	(information)
	teak
	(take)

	Insteraments
	(instruments)
	tempartecher
	(temperature)

	Interesting
	(interesting)
	temprature
	(temperature)

	Languges
	(languages)
	tierd
	(tired

	Meatl
	(metal)
	translat
	(translate)

	Mesure
	(measure)
	turnning
	(turning)

	Moon
	(satellite)
	usefuls
	(useful)

	Mutch
	(match)
	woke
	(walk)

	Patrolume
	(problem)
	
	


3.6. PUNCTUATION 

     
Punctuation is a very important element in writing. So it is obvious that it is not ignored in the English curricula of Yemen. There are a number of exercises in the prescribed text​books on punctuation. But as the learners make a lot of errors in punctuation in both the free composition test and the transla​tion test it is clear that they have neglected these exercises. In fact, they seem to know nothing about the rules of writing in English. Most of the students do not use the full stop at the end of each sentence. In their free composition and translation, they go on writing without using the full stop (see Appendix B-5). Also chronological connectors like first, second, then, after that are used incorrectly. Even capital letters are used wrongly. For example, most lexical items of the sentences that the stu​dents use are in capital letters (see Appendix B-5).  The following examples are illustrative: 

334.
but The Tourism do not Come
335.
We have a lot of Gardens in Village
336.
It expects if There is Rain
337.
And That System Catch The information
338.
Airoplanes in Air, Sheep in Seas Catch This information


The students' errors in free composition can be ascribed to the methods of teaching their mother tongue, i.e. Arabic. To make it clear the Arabic teachers usually neglect writing in Arabic. This poor knowledge of writing Arabic is transferred to English writing also.  Some scholars say that if a learner knows the grammatical rules and writing mechanisms of his native language, he would learn the second or foreign language well.  Ringbom (1987) adds that the major reason for committing grammatical errors on the part of foreign language learners is their igno​rance of the writing rules, because they may overgeneralize the target language rules they know, they may use their mother tongue rules, or they may also apply their first language and target language rules together. 

3.7.   CONCLUSION

     In conclusion, the grammatical items studied and analysed in the four tests, viz. multiple-choice test, sentence structure test, written test and translation test are articles, preposi​tions, relative clauses, verbals, interrogatives and negation. The same grammatical items were repeated in the four tests in order to let the teachers, textbook designers, and writers know the areas in which the students face difficulty and commit errors so that they can devise strategies to realize the curricular objectives in order to present grammar in an acceptable manner to the learners.
	Table 32: Four-test-errors summary description 
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	Table 33: Four-test-errors hierarchical summary description
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Table 32 shows that in the article category, the learners make more errors in the translation test than in any other test.  The percentage of errors they made in this category is 37.15%.  


In the preposition category, they show more errors in the multiple-choice test than in the other three tests.  The percent​age of errors found in the use of prepositions is 23.67%.  The number of errors which the students make in the verbal category is 2261. These errors represent a higher percentage, i.e. 45.32% in the written test than in the other three tests.  However, in the case of interrogatives, errors are much higher in the sen​tence structure test (79.77%) than in the multiple-choice test (62.21%). In addition, the last column from the right in Table 32, presents the ranks of errors committed in each test.  Errors in the use of verbs get the first rank with 17.02%.  Errors in spelling come second with 15.92%. Errors in the use of relative clauses occupy the third position with 14.71%, and errors with the interrogatives get the fourth rank with 13.15%.

     
All these errors can definitely be ascribed to the following two sources: a) The students are not fully exposed to either sufficient practice or satisfactory techniques of instruction. b) Most errors which have been committed in the said four tests are attributable to either interlingual or intralingual interference.  However, the vocabulary and spelling errors are caused only by the intralingual interference of the target language. 










